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ENGLISH
Time: 3 hrs. Max Marks: 100
UNITI - PROSE
I A Answer the following in a word, phrase, or sentence each. (5x1=5)
1. What Is the other social media that the author comments on besides the cell
phone?
2. What, according to the author, is lost by the use of urgent and instantaneous
technology?
3. Mention any two physical symptoms that the hurry sickness has caused among
human beings.
4. Why does the narrator mention that the Car Nicobar islands were low-lying
islands?
5. How did the Director’s son survive the tsunami?
IB Answer any FOUR of the following in about 150 words each. (5x4=20)
1. How did the IRS and the tall man cope with the negativity?
2. Write a note on the havoc caused by the tsunami.
3. What were the Director’s ways of coping with his loss?
4. What glimpse does the lesson “A Town by the Sea” give of the Director's wife, son
and daughter?
5. What kind of a man do you think was the Director? Explain with reference to the
lesson,
6. What events led to the frantic efforts of the Director to contact his family?
UNIT II - POETRY
I A Annotate any TWO of the following in about 150 words each. (2x5=10)
1. “Teach him to have faith in his own ideas,
Even If everyone tells him they are wrong...
Teach him to be gentle with gentle
And tough with tough”
2, "For he suddenly smote the door, even
Louder, and lifted his head:-
Tell them I came, and no one answered,
That I kept my word, he sald”
3. “These are the times of tall men, and short character;

Steep profits and shallow relationships,
These are the times of world peace, but domestic warfare,”
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Answer any TWO of the following in about 150 words each. (2x5-._-10)
n L

i 7
What is the connection between knowledge and judgment?

: the hedge? What were her schog

hild doing alone near X - Mateg
?T:;?Wa&f:edi; they react when the "blue frocked women” scolded the lonely
(o] f

child?

The poet says that as she: is a :
picnic, yet she remembers it. Why?

UNIT III - DRAMA
Answer the following in a word, phrase, or a sentence each. (Sx1=5)

peter advises Jerry to get married. True/False?
cither given to sin nor the consolation of the bottle”. Explain

n adult now, there is no need to remember the

Jerry’s aunt was "n

this quote. '
The dog and the ... are the gate keepers of Jerry’s dwelling,
The land lady always spies on Jerry to see that he doesn’t bring in ..., ang

Jerry plans to kill the dog by feeding it @ ......oumnniesennas stuffed with rat poison,

Answer any TWO of the following in about 200 words each. (2x10=20)

The conversation between Peter and Jerry at the beginning of the play dwells on
marriage, wife, children, family and pets. Analyze this conversation and comment

on the unusual situation.

Jerry describes his “everyday” experience in terms of the people he sees at
his"four-storey Brownstone rooming-house” and his measly possessions. What

picture of life does he give? Explain.

Jerry tells a long story that explains why the picture frames are empty? What is
that story? Does it explain Jerry’s personal tragedy?

UNIT IV GRAMMAR AND WRITING SKILLS

Choose the appropriate word/phrase for the underlined idiom (5x1=5)
given in the brackets below.

Some politicians .......uwieneeenne . When elections are nearing.

When we face problems we must remember that ...
rrrraesrenneneeeen s 15 @ COMMonN trait of people.

Of the three children Rahul got a ......c.ceceviinnneee.n . Of the property.
In hindi movies police arrive at the scene of action ..c.cceeeevevrcvrcereeen «

(A cock and bull story, sit on the fence, every cloud has a silver lining, hit the nalil
on the head, to blow one’s own trumpet, read between the lines, Lion’s share, t0
kill time, at the eleventh hour)

Fill in the blanks with appropriate binomials. (5x1=5)

Sometimes we get tired of the hustle and ...........co.co.cveonoon. OF city life.

g}l;;:;e was only skin and ........................... left of the cancer patient during her last

More or .........c.cee.es, I @am done with the packing work.

Frequent use of any electronic gadget results in ItS Wear and ...

By @nd ...........cccosvesessssnenns, OUF country has got rid of some major diseases.
contd...3
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Write a letter of co i
mplaint to the commissio f i
corporation ner of the city (5 Marks)
about irregular water supply in your locality.
Interpret the following di
a i i
the Information showr?. gram and write a report describing (5 Marks)
The various Programmes you watch on TV in a day for 12 hours.
|
|
|
1) News - 01 hr 2) music 01 hr
3) Drama - 02 hrs 4) Phone-in-programme 01 hr
5) Movie - 02 hrs 6) Dance 01 hr
7) Serl'al - 02 hrs 8) Sports 2 hr
8) Recipe - ¥ hr 10) Reality show 01 hr

Choose appropriate words from the list given below and fill in the blanks to
complete the paragraph.

(5x1=5)
The ........ccvcevsserierrnene.... beast was preparing itself for a fierce battle with its male
adversary. The forest was quiet except for the chirping of birds and cricket on this

. Afternoon. She knew her enemy was hiding himself in the
undergrowth behind the trees. She noticed some

s MOVEMent and thought of launching the attack, However, she halted
for a moment and decided to withdraw .........oooovevvveroonnon

(strong, ferocious, super, sultry, wet, faint, formal, dense, quietly, real, simple)
Reading comprehension:

Read the following passage and answer the questions given below in not more
than a sentence each:

Once again we: waited and waited, but heard nothing. Finally we came to the
conclusion that the burglars had fled when they heard footsteps in an otherwise
quiet bullding. The problem now was that the chairs in the private office were
neatly grouped round the radio, which were turned to England. If the burglars
had force:d the door and the air raid wardens were to notice it and call the police,
that would get the ball rolling and there could be very serious repercussions. So
Mr. Van Daan got up, pulled up his coat and pants, put on his hat and cautiously
followed father down the stairs, with Peter(armed with an heavy hammer, to be
on the safe side) right behind him. The ladies (including Margot and me) waited

irn suspense, until the men returned fine minutes later and told us that there were
no signs of any activity in the building.

Contd...4
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1) Why did the burglars flee according to the speaker? (5"1*5)

2) What would get the ball rolling?
3) Why did Mr. Van Daan follow the father down the stalrs?
4) What information did the men bring from downstairs?
5) Find expressions in the passage which mean!
a) Reaction or consequence

b) Act of coming to an end
e o ok e ok ok ok oK ok
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Family farming is farming in a farm owned and operated by a family. Like other
family business and real cstate, ownership often passes to the next generation by
inheritance. It is the basic unit of the mostly agricultural economy of much of

human history and continues to be so in developing nations.
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ADDITIONAL ENGLISH
1&4 Time: 3 hrs. Max Marks: 100
! UNIT-1I
(Short Story and Prose)
I Answer any ONE of the following in about 150 words: (1x5=5)
Sy What are A.G. Gardiner’s views on the custom of shaking hands?
2. How would you describe Okeke's character? Use details from the story to
Support your answer.
II Answer any TWO of the following in about 250 words each:
(2x10=20)
Explain the ways that the Indians, Chinese and Japanese people greet.
Explain the conflicts presented in ‘Marriage is a Private Affair,
Explain the theme of ‘Marriage is a Private Affair,
X UNIT - II
- (Poetry)
I Answer the following in about 150 words each: (4x5=20)
1. How does the poet depict the struggles of the scholar in ‘The Scholar in the
Narrow Street”’ ?
2. Explain the waiting and anxiousne;s of the poet to see God in ‘The River of
= Heaven’, .
3. How is the woman depicted in the poem Pour us Wine?
4. Who is Osiris? How do the Egyptians worship Osiris?
UNIT - III
; (Novel)
I Answer the following in about 150 words each: (1x5=5)
1. What is the nature of Clara and Alice’s relationship?
II Answer any TWO of the following in about 300 words each:
(2x10=20)
1. Why does Patrick’s father become a dynamiter? How does this influence
Patrick’s life?
b 2. What political or social commentary does the novel, In the Skin of a Lion
' make?
3. Describe how the novel In the Skin of a Lion llustrate the nature of
) community and belonging for Patrick and the new immigrants.
Contd...2
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UNIT -1V
(Grammar and Vocabulary)

Write a dialogue of 15 turns on the following:

Two citizens discussing the Swach Bharath Abhiyaan. “"i
Make sentences on the following: (5"1‘*5;
bear (animal)

bear (to withstand)

address (to speak)

address (location)

fair (equitable) or fair (beautiful)

Do as directed: (51(1:5]

All are present. (convert into a negative sentence without changing the
meaning of the sentence).

Ahmed Is taller than Anand. (convert into a negative sentence Withoyt
changing the meaning of the sentence).

St Aloysius College is the best college in Mangaluru. (Change into negatiye
sentence without changing the meaning of the sentence).

Twenty five people visited the museum. (Change into interrogative Senteng
So as to get the underlined words as answers).

This question paper is easy to answer. (Change into interrogative sentence
S0 as to get the underlined words as answers).

Write a speech of about 100 v\;ords on the following:

You are the chief guest at the Talents Fay celebration in your college.
Fill in the blanks with the correct clichés:

(5)

(5x1=5)
Better late than --------
Every cloud has a ---------
All is fair in love and ------
Opposites ---==eseau-
All's well that ends ==----==--
ok ok ok ok R
4
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FRENCH
Time: 3 hrs. Max Marks: 100
| Mettez les verbes entre parenthése au conditionnel présent. 1x10=10
a).Si j'habitais en ville, je LT L ST voiture
L R transports en commun.
€)-NOUS (VOUIOIN) .vemreieeerreeees e savoir quand part notre train.
d).S'ils avaient un gargon, ils T(BPPEIB) ...ccviiisiicrsirmmsmmrniansssssessrenserossasonsansss Arnaud.
e).Si j'étais riche, je (faire) ........coeevevvvoeo. e tour du monde.
f).Tu as pris du poids. Tu (AeVOIF) ........covvevseeeeoeesosoo faire du sport.
0).S'il avait le choix, il (PrEFEIer) ..........cooeeeeerereseeeoe oo, partir en vacances.
h).Si jlinvitais vos parents, vous 4L o VO — aussi?
1).Si j'étais toi, j'@Ier) ..........ooer e eees e, plus souvent & la mer.
1)-(POUVOIT) oo vous me préter votre stylo?
Il Lisez le texte et répondez aux questions, 1x10=10

Les vacances de Léa

Léa passe ses vacances a la mer. Bien s(r, elle n'est pas toule seule, il y a aussi ses
parents et Félix, son tigre en peluche. Léa ne peut pas tellement jouer avec Félix, au
bord de la mer. Il est tout le temps couvert de sable! Elle ne peut pas non plus
I'emmener dans I'eau avec elle. Ca l'abimerait, et il serait plein de bosses. Léa ne peut
Pas non plus compter sur ses parents pour jouer avec elle. La maman de Léa passe
ses journées étendue sur une chaise longue et son papa aussi. lls ouvrent les yeux
seulement quand ils ont besoin du flacon de créme a bronzer. Les parents de Léa ne
veulent pas non plus se baigner. Maman a dit que les vagues étaient BEAUCOUP trop
hautes. Papa a ajouté que I'eau était BEAUCOUP trop froide. Ensuite il a remis son
chapeau sur sa figure, et il s'est rendormi. Au debut, Léa s’est ennuyée. Le premier
jour, elle s'est construit un chateau de sable. Et puis encore un autre. Et autour des
chateaux, elle a creusé des douves qu'elle a reliées entre elles. C'était un gros travail |

a).Qui est Félix ?

b). Pourquoi Léa ne peut-elle pas se baigner avec Félix ?
¢). Que font les parents de Léa ?

d). Pourquoi la maman de Léa ne veut-elle pas se baigner ?
€).Qu'a fait Léa pour s'occuper ?

f).OU passé léa ses vacances?

g)-Est-ce que Léa passé toute seule les vacances?

h).avec qui passe-t-elle les vacances?

i).Est-ce que les parents de Léa jouent avec elle?

j).Est-ce que vous aimez la mer?

lll Répondez six questions aux choix. 6x10=60

a).Décrivez la grotte de Lascaux et ses spécialités|
b) Présentez un(e) écrivain frangais(e)!
c).Que signifie I'école pour vous?
d).Pourquoi faut-il apprendre une langue?
Contd....2
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e).A quoi sert les éludes universitaires? .
f).Est-ce que vous étes une personne aventuriére? Aimez —vous prendre |eg fisgy

g) A qui attribue-t-on la cérémonie de Césars? %

IV Ecrivez un dialogue aux choix. 1X1ug1n

a).Vous partagez le meme appartement avec un(e) ami(e). V'ous étes faché(e) Pa
que vous n'avez pas la eme fagon de vivre. Il (elle) est parti(e). ‘e
Ou

b).En vacances vous vous voulez partir & Dehli. Vous proposez & un(e) ami(e) ¢, "
accompagner. Mais il (elle) refuse de venir. (proposer, refuser, convaincre), o

V Ecrivez une lettre. x1 019

a).Parlez de votre vie & I'école St Louis avec un(e) ami(e) qui habite & Bangajore,

- ek ek
L

|

Scanned with CamScanner



S§T./.L0TSIUS CCLLowE LIPRARY

wmteGALURE-575003 10

(2014 Batch onwards) d
G 151.3 Reg.No: | | | | | | |
[ ! | e B

St Aloysius College (Autonomous)

Mangaluru
B.A./B.Sc./B.Com. Semester III - Degree Examination

October - 2018

MALAYALAM
Time: 3 Hours Max. Marks: 100

I POMEERo N ORIOMON) 0> (2x5 =10)
1. @B 0milS|0 BANITUIANDEMRL JBIT) 1B T3-

CnJ B @l6anaIemIel LONTAJ0 UM} (BEED..
2, R2IN) SN BN N I@ONe aileid

AOL@HEAIOH) IO BRUOSO@IEN)  ETNOND .
3, TNEIBASHOFIM] @]S) D)So @S]

&leMo @MI)P)EUOSEN]$Rilo

OGNNSO IAWETMMN)0 nidRI}o

smarigmIne mn)aaoilwle
II  oosmeepawim) @)nly) @PPONOea)E: (2x5=10)
4. eeUN@)OS  UNIEUDNHUD
= momuoemnlsel &ogflo) Afleoe —6o) nflnioemo
6. muinnlefleona)es cuafleauaum aflueloyoms
III  ocoszapewia’ aym) Ao S0wonm sEmONATLmLS (2x15=30)
7. ageies sugl’ agm enloaes aldlmodmn @uand aemElends]

@OHMNOBIMVIORMe @ONISHE:.
U EBHDIMBLINVAN §HB)0DS] SHian1En)om A ge@mipoem &25019S

ol avaiodlyflesyma- avadidlen)e

S. £06M 051 H0@ —BOIMVRARMo ?

Iv  oomepowin a}mial0amied @0onm DO OHAP)M)E>
AdEmem @yndlesalac mamd

(2x15=30)

10 emo@d @ ng)M o led AllDIn
mnuwmlenuwaom aflurloamameslom ?

11. ¢ waolewnlw BO9AHEMI, EO9EHNIW GO} L
ANeeson@anBBaoSOTman)la] aplmeaEmOge BOBOEMINEMNATY

sole@em?’ pgg alleuonysmo

aItleuowlon o

12. olvesnanrileae/lon paoendnInsS =2I0No 1M &6860)1012,)88

cesnudaadn allnuoemo el@ono1em]en]d.
(1x15=15)

saospomla aM)AnNE @ GIN@WOND SEMORDT,CYS:
13, ‘amgpem!’ ~@m o @EDIamnn updua@ Moeads

agom emoruelas mgm%xrﬂgﬁmﬂmmmmm'lmm ?
moABTNNIOS & B1ne 20J0EEMOVETAMN MSA@OS B0}

14.
apaIT]fleayrmn-

em@ODOF@OET ‘MORNOBS A emonuaflenss ngo.S]

mun@mnlen)d.
Contd...2

Scanned with CamScanner



4 Page
G 151.3 No,,

Ixs,
VI amnmm’kﬁ‘ @RYUODo allwonnodn® ( “5..5}
15. oo peomi] aymew HndenNe

16. 8®95900 aflon@omd £20U00 00881}

tlo.
D@02 BSkIOEa® MBIV
S #t*t*****##***

4

Scanned with CamScanner



STALOTSIVS COLLUGE LIPRY )l

MAINGALONKE.-S/ 50U
(2016 Batch Onwards)

G 301.3 Reg. No.: [“ [ _T "

St Aloysius College (Autonomous)
Mangaluru
B.Com. Semester III- Degree Examination
October- 2018
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Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. State any four features of dependent branch.
Write a short note on AS-14.

Give the adjustment entries to adjust loading in opening stock and goods sent

to branch when goods are invoiced from H.O to branch at invoice price under
Debtors Method.

4, Write 2 note on Minimum Rent and Short- workings.
5. State any four features of Hire Purchase System.

6. What do you mean by Hire Purchase Price? How it is different from cash
price.

7. What is meant by Royalty? State its types.

SECTION-B
Answer any FOUR of the following. (4x12=48)
8. Write 2 note on "Adoption of IFRS, in India’. Discuss in detall.

9. Mr. Suresh has a retail branch at Bangalore. Goods are sent by H.O to
branch at selling price which is cost plus 25%. All the expenses of the branch
are paid by the H.0. All cash collected by the branch (from customers and
cash sales) is deposited to the credit of H.O.

From the following particulars prepare Branch Stock A/c, Branch Debtors A/c,
Branch Adjustment A/c and Branch Profit & Loss A/c.

4

Debtors 1-1-2017 . 12,000
Debtors 31-12-2017 14,000
Stock at invoice price:

On 01-01-2017 16,000

On 31-12-2017 17,000
Cash sales 60,000
Total amount deposited in the H.O A/c 1,27,000
Return of goods to H.O at invoice price 5,000
Salaries paid : 6,000
Rent paid 4,000
Discount allowed to customers 2,000
Bad debts written off . 1,000
Spoilage 2,000

Contd...2
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On 1-1-2014 Mr. Arjun acquired on lease of certain oil wells from mr, Akash,
on a minimum rent.c;f 724,000 p.a. merging into a royalty of X2 per ton of o
taken out. The shortworkings were recoverable in next two years of Such
shortworkings only, but on condition that if full shortworkings could not be
recovered In the year next year of shortworkings, Mr.Arjun will lose his rig;,
to recover 50% of the unrecovered balance of shortworkings. The outp of

the first four years was as follows:

2014 —» | 3000 tons
2015 —» | 7500 tons
2016 |_, | 15000 tons
2017 —» | 14000 tons

Prepare Royalty A/c, Shortworkings A/c and Landlord’s A/c in the books of
Arjun. '

On 1st Jan 2010 Gopinath and company acquired a machine on hire purchase
system. The terms were as follows:

The cost price of the machine was ¥1,00,000.
¥40,000 was to be paid on signing the agreement. The balance was to be
paid in three annual instalments of ¥20,000 each plus interest, at the end of

each year.

The interest chargeable on outstanding balance was at 6% p.a.

The depreciation is to be written off at 10% p.a. on straight line method.
You are required to show:

a) The relevant accounts in the books of Gopinath & Co. from 1% Jan 2010
to 31 Dec. 2013 and

b) The Machinery in the Balance Sheet of Gopinath & Co. as at 31% Dec.
2013.

Rekha Patil purchases T.V set from Bharath India Ltd. on instalment system
on 1-1-2011. The payments are to be made:

- 2,000 on delivery,

¥3,800 at the end of first year,
- ¥3,000 at the end of second year,

¥2,750 at the end of third year,

Interest at the rate of 10% p.a. is included in the above instalments. T.V. set
are subject to 10% depreciation on original cost. When second instalment
become payable Rekha Patil sold the T.V. set to her friend Nandini for 27,500
and the amount due to vendor was settled in full.

Show necessary ledger accounts in the books of Rekha Patil.,

contd...3
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13. The following balances are extracted from the books of The India Life

14,

Assurance Co. Ltd. as on 31-03-2010.

4
Life Assurance Fund 1-4-2009 10,41,200
Claims paid 45,000
Claims outstanding 1-4-2009 6,000
Loan against mortgages 2,33,000
Loan against policies 1,00,000
Expenses of management 74,000
Investment fluctuation reserve 36,000
Premium deposit 12,000
Depreciation on fixed assets 1,000
Indian Govt. securities with RBI 2,60,000
Other securities i 5,50,000
Fixed Assets 50,000
Sundry creditors 15,000
Interest and dividends 56,000
Outstanding premiums 44,000
Interest accrued 10,000
Sundry debtors 16,000
Income tax deducted on interest 6,000
Premiums less re-Insurances 2,72,000
Cash and Bank balances 49, 200

Prepare final accounts after making the following adjustments:
1) Claims outstanding as at 31-03-2010 <9,000.

2) Claims recoverable from reinsurers ¥4,000.

SECTION - C
Answer any TWO of the following. (2x16=32)
Following are the balance of Ledger Accounts of Branch and Head office on

31% March 2010.

Contd...4
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Dr. .. H.0 Branch cr. | . m
4 T r
I Fredi 10,150
Opening Stock 22,500 | 8,200 | Creditors ' \2700*
Purchases 55,000 | 12,800 | Goods sent to 71200 \1
branch i
: 65,
Wages 40,400 6,550 | sales 1,6500 W
- ‘_-_\-\
Manufacturing 17,700 3,400 | H.O Account 14.Dog|
expenses
Machinery; Capltal 1,00,000 [ T
at H.0 50,000 - Discount earned 550 155
at Branch 25,000 - Purchase returns 1,250 Hﬁﬁﬁ”
S—
Furniture:
"
at H.O 2,500 -
at Branch 1,000 - !
_—____“'-\-u
Rent 3,000 1,700
R |
Salaries 16,000 5,500
Debtors 19,000 4,000
General 9,000 2,000
Expenses
Goods from H.O - 7,200
Cash 5,150 750
|
Branch A/c 18,000 -
2,84,250 | 52,100 2,84,250 52,100

Closing stock at Head office was T19,350 and at Branch %14,350.
Depreciation be allowed at 10% on machinery and 15% on furniture. Rent
still payable in respect of March 2010 at Branch was 150. On 28" March
2010 Branch sent %4,000 to H.O, but the H.O received it on 2™ April 2010.
Prepare Trading and P & L A/C and consolidated Balance Sheet. Give journal
entries to incorporate branch accounts in the books of H.0.

B.S Raman wrote a book on accountancy and got it published by United
Publishers on the following terms:

The publishers were to pay a royalty at 15% of the sale proceeds of each

year, subject to a minimum of 210,000 a Year. The deficiency in sales, if any

of the first year could be recouped out of any excess in the second year. The
publishers had the right to ask for a revision of the book, which the author

was obliged to complete in six months, Delay was subject to a fine of ¥500

of minimum rent was not to apply in that
year. The details of sales are given below:

per month. Also the agreement

Contd...5
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[Year [ No. of copies sold i’fi_te_per_'_t_:aﬁy_l

2002 | 2000 20
2003 | 4000 | 720
2004 5000 225
2005 | 2000 i 225
2006 6000 230 |

The publisher sent a request for revision of book on 1% Jan 2005. The author
sent the revised manuscript on 1* November, 2005.

Prepare the necessary ledger A/cs in the books of United Publishers.

On 1-1-2004 five trucks were purchased by Madhu Chandra on hire purchase
system. The cash price of each truck Is ¥55,000. The payment was to be
made as follows:

10% of cash price is paid at the time of dellvery of the trucks and instalments
equal to 25% of cash at the end of each of the 4 subsequent half-years. The
payment due on 31-12-2004 could not be made and hence trucks were seized
by the vendor. After negotiations Madhu Chandra was allowed to keep 3
trucks on the condition that the value of other two trucks would be adjusted
against the amount due, two trucks being valued at cost less 25%

depreciation per annum.

Vendor spends ¥6,000 on repairing the repossessed trucks and sells them for
¥95,000.

Madhu Chandra charges 15% depreciation on trucks on the original cost.
Show the various ledger accounts in the books of both the parties up to
1-1-2005.

SECTION - D
Answer the following: (Compulsory) (10)

Show what entries would be passed by Head office to record the following-

transactions:

a) Branch office pays dividend of ¥50,000 on behalf of Head office.

b) Branch office collects the amount of calls In arrears on behalf of Head
office [¥10,000].

c) Depreciation of ¥20,000 on branch machinery, the account of which Is
maintained by H.O.

d) Goods sent by H.O of ¥30,000, but not reached to the branch by the
end of accounting year.

e) Head office expenses of ¥5,000 chargeable to the branch office.

LA A A AT A L]
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FINANCIAL REPORTING

Time: 3 hrs.

Max Marks: 100

SECTION - A

I. Answer any FIVE questions of the following:

1,

(5%2=10)

State the maln purpose of Conceptual Framework of Financial Reporting

adopted by the International Accounting Standards Board (IASB).
Briefly explain any four significances of financial statements.

An assct costs $150,000 and has an expected useful life of ten years. The
purchaser Intends to use the asset for six years at which point the
expected residual value will be $60,000(at current prices).

What is the depreciable amount?

4. Which TWO of the following criterla must be met before development
expenditure Is capitalized according to IAS 38:

A. the technical feasiblility of completing the intangible asset

B. future revenue is expected

C. the intention to complete and use or sell the Intangible asset
D. There is no need for rellable measurement of expenditure
5. The following information relates to three assets held by a company:

Asset Asset Asset
B C
$ $
Carrying amount 100 50 40
Value in use 80 60 35
Fair value less cost to sell a0 65 30

What is the total impairment loss?

6. LPD buys goods from its 75% owned subsidiary QPR. QPR earns a mark-up
of 25% on such transactions. At the group’s year end, 30 June 2011 LPD
had not yet taken dellvery of goods, at a sales value of $100,000, which
were dispatched by QPR on 29 June 2011.

What would be the net increase in inventory in the consolidated
statement of financial position of the LPD group at 30 June 20117

7. Antony’s year end Is 31 December. The following events all occurred in
January. State whether the events below would be classed as adjusting or

non-adjusting events,

Event

Adjusting Non-adjusting

“Completion of the purchase of
another company

Loss of inventory due to a flood

by Anderson

ik el - il

A court case from August Is settled

The discovery of a fraud showing the

financlal statements were incorrect. 1 J
) ' . contd...2
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' secTION - B - (4x12=4g)
stions of the followinz: o or e T
Answer any FOUR qué cepts and explai r
ounting con tement:

8. Define the following acc ancial sta

implications for the prepara

a) The entity concept
b) Going Concern

c) Materiality 50,000t
i tation erty was $100, with
d) Faithful represen I leasehold ProP e 1ts

9. On 1 Apr 20X8 the fair value 0 s policy IS
a rema?ning life of 20 years. The Co?;ﬁa;gxgpthe property Was valued at
property at each year end. At oy urplus at 1 April 20X8 was

$86,000. The balance on the revaluat:ggssehold property.

$20,000 which relates entirely to the in respect of excess
Xu does not make a transfer to realised profit in
depreciation.

Required: cial statements for the year

tracts of Xu's finan 5 ation.
‘ :;?:li?irgf )lf-larch 20X9 reflecting the above mf-Ol‘!: o
b) State how the accounting would pe different if the opening

revaluation surplus did not exist.

. The
10. Riyad enters into an agreement to lease an asset

are as follows. h l
a) Primary period is for four years from 1 January 2012 with a rental of

$2,000 pa payable on 31 December each year.
yments is $5,710

tion of fin

terms of the lease

b) The present value of the lease pa
¢) The interest rate implicit in the lease is 15%.
What figures will be shown in the financial statements for the year
ended 31 December 2012?

11. ABC plc has a year end of 31 Dec 2016 and uses the dollar($) as it_s
functional currency .On 25 Oct 2016 ABC buys goods from a Swedish
supplier for Swedish Krona (SWK)286,000.

Rates of SWK:

25 Oct 2016 $1 = SWK 11.16
16 Nov 2016 $1 = SWK 10.87
31 Dec 2016 $1 = SWK 11.02
Required :
Show the accounting treatment for the above transactions if:

a) The sale of goods by Swedish supplier on 25 OCT 2016
b) A Payment of SWK 286,000 is made on 16 November 2016.
c) The amount owed remains outstanding at the year -end date.

_12. A Company issued one new share for every two existing shares held by way

of rights at $1.50 per share on 1 July 2017. Pre-i :
$3.00 per share. ¥ e-issue market price was

Relevant information:

2017 2016

Profit attributable to the ordinary shareholders $550,000 $460,000

for the year ending 31 December

Number of ordinary shares in issu
December e 1,200,000 800,000

Required:

Calculate basic EPS to be prese Y
nted in the f; 4
) a d : e finan
the year ended 31 December 2017 (including coc:llas:aa;i:?igt:rgr

Contd...3

Scanned with CamScanner



14,

— 6
Gl:'m.za STLALY ! ...mll._ﬂ#& ARY page.No 3 ]—-)

MANGALORE
On 1 January 2009 Zebedee acquired 60% of the ordinary shares of Xavier.

The following statements of profit or loss have been produced by Zebedee
and Xavier for the year ended 31 December 2009.

Zebedee Xavier
$000 $000
Revenue 1,260 520
Cost of sales (420) (210)
Gross profit 840 310
Distribution costs (180) (60)
Administration expenses 120) (80)
Profit from operations 540 160
Investment income from Xavier 36 )
Profit before taxation 576 160
Taxation (130) (26)
Profit for the year E 134

During the year ended 31 December 2009 Zebedee had sold $84,000
worth of goods to Xavier. These goods had cost Zebedee $56,000. On 31
December 2009 Xavier still had $36,000 worth of these goods in
inventories (held at cost to Xavier).

Good will on consolidation has not been impaired.

Required:

Prepare the consolidated statement of profit or loss to incorporate
Zebedee and Xavier for the year ended 31 December 2009.

SECTION - C

Answer any TWO questions of the following: (2x16=32)

Statements of financial position and statement of profit or loss for Ocean
Motors are set out below.
Statement of financial position for Ocean Motors
2012 2011
$000 $000 $000 $000

Non-current assets:
Land and buildings

Cost 1600 1450
Depreciation (200) (150)

1,400 1300
Plant and machinery:
Cost 600 400
Depreciation (120) (100)

480 300

1,880 1,600
Current assets:
Inventory 300 100
Receivables 400 100

700 200
Total assets 2,580 1,800
Equity:
Share capital-$1 ordinary shares 1,200 1,200
Retained earnings 310 220

1,510 1,420
Current liabilities:
Bank overdraft 590 210
Payables and accruals 370 70
Tax 110 100

2,580 1,800

Contd..4
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Statemen

Sales revenue
Cost of sales
Gross profit

Administration and distri

Profit before tax
Income tax expense
Profit for the year

The dividend for 2011 was

Required:

Calculate the following ratios fo

comment upon what

. ’f.’.u.» ‘t’;‘}: ’C

i

ts of profit or 1055

bution expenses

they indicate:

a)Gross Profit Margin
b)Operating Profit Margin

¢)ROCE

d)Net Asset Turnover

e)Current Ratio
f)Quick Ratio

g)Inventory Collection Period
h) Accounts Receivable Collection Period

i)Account Payable Pa
15,
' December 2017,

Non-current assets:

Property, plant & equipment

Investments
672,000 shares in Laa
168,000 shares in Po

Current assets:
Inventory
Receivables
Bank

Equity:
$1 ordinary share
Retained earnings

Current liabilities:
Trade payables
Taxation

yment Period

Dipsy
$000
1,120

Laa 644

224

1,988

380
190
35

605
2,593

1,120
1,232
2,352

150
91
e,
241
The—————
2,593

———

$ 100,000 and for 20

for Ocean Motors
2012
$000

1,500

(700)
800

(400)
400

(200)

Laa
Laa

$000

980

980

640
310
58
1,008
1,988

840
602

Ta4az

480

66

564
1,988
—_——

200
12 was $110,000.

FeEgsIN0.4

2011
$000

r Ocean Motors and briefly

Below are the statements financial position of three companies at 31

Po
$000

840

840

190
100
46
336
1,176

560
448
1,008

136
32
168
1,176

Contd...5
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You are also given the following information:

a) Display acquired its shares In Laa Laa on 1 January 2017 when Laa
Laa had retained losses of $56,000.

b) Display acquired its shares in Po on 1 January 2017 when Po had
retained earning of $140,000,
c) Animpairment test at the year- end shows that good will for Laa Laa
remains unimpaired but the investment inPo has impalred by $2,800.
d) The dispy group values the non- controlling interest using the fair
value method. The fair value on 1 January 2017 was $160,000.
Prepare the consolidated statement of financial position for the
year ended 31 December 2017.

16. The following information has been extracted from the book of Picklette for
the year to 31 March 2018,

Dr Crr
$000 $000
Administrative expenses 170
Interest paid 5
Called up share capital
(Ordinary share of $1 each) 200
Dividend 6
Cash at bank and In hand 9
Income tax
(Remaining balance from previous year) 10
Warranty provision 90
Distributlon costs 240

Land and bulldings:
At cost(Land $110,000, Building$100,000) 210

Accumulated depreciation(at 1 April 2017) 48

Plant and machinery:

At cost 125

Accumulated depreciation{at 1 April 2017) 75

Retained earnings (at 1 April 2017) 270

10% Loan (issued in 2016 80

Purchases 470

sales 1,300

Inventory(at 1April 2017) 150

Trade payables 60

Trade receivables 728 =
2,123 2,123

Additional information:
a. Inventory at 31 March 2018 was valued at $250,000.

b. Buildings and plant and machinery are depreciated on a straight-line
basis (assuming no residual value) at the following rates:

On cost : Bulldings 5%
Plant and machinery 20%

c. There were no purchases or sales of non- current assets during the
year 31 March 2018.

d. The depreciation charges for the year to 31 march 2018 are to be
apportioned as follows:
Cost of sales 60%, Distribution costs 20%,
Administrative expenses 20%

e. Income taxes for the year to 31 March 2018 are estimated to be
$135,000.
Contd...6
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i)

iii)

iv)

N "
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Cocetd gnot Page.Ng, ¢
. nd repayable In five years.
f. The 10% loan was issued In 2018 @ B b eatimtan g

n for warranty cla

ts are charged to administrative expenses,
s

g. The year end provisio
$75,000. Warranty CO
Required : : ]
Prepare Picklette plc's statement O I‘;':

March 2018 and a statement of finan
SECTION - D

rofit or loss for the year to 34
jal position as at that date,

(10)
Answer the following:

The following scenario relates to question
carries 2 marks)

i e
Key figure from Franck’s financial statement for th
September 2012 are shown below.

s i-v(each question

year ended 30

$000
Revenue 0,400
Profit from operations 1,500
Share capital 15,000
Retained earnings 3,000
Loans 2,000

Franck has operated in the computer
gaining a reputation for steady growt
company, Dulk, which has recently been put up

be seen below.

softwareindustry for many years,
h. It is Interested in acquiring a
for sale. Dulk’s results can

$000
Revenue 1,200
Loss from operations (600)
Share capital 24,000
Retained losses (1,200)
Loans 4,000
Calculate Frank’s return on capital employed (based on profit from
operations) without the acquisition of Duik to one decimal place. ___ %
What is the combined operating margin if Franck And Duik are combined?
A.9.6% B.19.8%
C.14.2% D.8.5%

Which, if any of the following statement is/are correct?

Statement 1: If Dulk is acquired, gearing will increase.

Statement 2: If Dulk is acquired, return on capital employed will decrease.
A. Statement 1 is correct B. Statement 2 is correct

C. Both statement are correct  D. Nelther statement Is correct

Which of the following is NOT a factor to consider in respect of Duik being a
subsidiary of another company?

A. Sales or purchases between the parent and Duik may not be at
market rates.

B. Duik may get the benefit of shared assets with the parent company
C. Duik’s Individual company financial statement may contain errors

D. Loans made from Duik’s parent may carry lower interest than
market rates

What other information Is Franck NOT likely to be to look before entering
into negotiations for the acquisition of Dulk?

A. A breakdown of dividends paid by Duik historically
B. Duik’s statement of cash flows

C. A breakdown of Duik’s upcoming projects which are in progress

D. The directors report outlining the performance for the year.
Rk okok K okomook ook ok ok ok ok
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14.
15,
16.

17.

. Write short notes on: a) Production concept

- T B AUIEdE (Autonomous)

Mangaluru
B.Com. Semester I11] - Degree Examination
October - 2018

PRINCIPLES OF MARKETING

Max. Marks: 100

SECTION - A
Answer any FIVE of the following

(5x2=10)
Define marketing.
What is societal marketing éoncept?
What is meant by consumer behaviour?

State the meaning of skimming price strategy.

. List any four essential qualities of a salesman.
. What is corporate retailing?

. What is a new product?

SECTION - B

Answer any FOUR of the following (4x12=48)

b) Product concept
¢) Marketing concept

. What is meant by buying decision process? Explain the buying decision process.
10.

11.
12.
13,

Explain the various stages in new product development.

What do you mean by pricing? What are the essentials of a sound pricing policy?
What is media selection? Explain the considerations in media selection.
What is marketing channel? Explain the importance of marketing channel.

SECTION-C

Answer any TWO of the following (2x16=32)

What is promotion mix? Describe the elements of promotion mix.
What is market segmentation? Explain the various bases for market segmentation.
What is advertisement copy? Describe the essentials of a advertisement copy.

SECTION-D

Answer the following (1x10=10)

Explain the steps involved in designing distribution channel for a new brand of sports
shoes.

3 3k % ok K %k % K Kk Kok KK
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B.Com. Semester III- Degree Examination
October- 2018
INCOME TAX - I

Time: 3 hrs. Max Marks: 100

SECTION - A
Answer any FIVE of the following. (5x2=10)
1. Give the meaning of “assessee” as per Income Tax Act.

2. State giving reasons whether the following are agriculture incomes or not.

i) Income from use of land for grazing of cattle required for agricultural
pursuits.

ii) Income from the sale of trees of spontaneous growth.
When a Hindu Undivided Family becomes a resident in India?

What do you mean by “Commuted Pension”?

What is annual value?

o v & ow

What is the tax provision relating to entertainment allowance in the hands of
government employee?

7. How do you treat the interest of “Pre-construction period”?
SECTION - B
Answer any FOUR of the following. (4x12=48)

8. Define Agricultural Income. Explain the tax liability of agricultural income
with an example.

9. a) Define ‘Previous year’ and ‘Assessment year’. Mention the rule of
taxation of income and bring out exceptions to the rule. (6)
b) Johnson, a citizen of USA has been living in India since 2004-05. He
leaves India on 16-7-2017, on a visit to USA and returns to India on
4-1-2018. Determine his residential status for the assessment year
2018-19. (6)
10, Explain tax provisions relating various types of Provident Funds.
11. Mr. Mahesh retired from service on 30™ June 2017 after a service of 30 years
9 months and 23 days. His last drawn emoluments are as follows:

» Basic salary £20,000 p.m.
e D.AZ5,000 p.m. (50% taken for retirement benefits)

« Annual increment of basic salary of ¥1,000 p.m. falls due on 1* January
cvery year,

« Gratuity received ¥4,80,000.
Contd...2
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15.
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Find out taxable gratuity if - of Gratuity Act, 1972
a) He is covered under the payment ent Gratuity Act, 1972.
b) He is not covered under the Paym d received %3,00,00p as

n
ber 2017 2
o O PR IRTE L " NOV‘”Z credit of 7 months approved Garngy

earned leave encashed. He ha D.A 5,000 (50% taken for

; 000 and
leave. His last drawn basic Was z25,

retirement benefit).
) . ancashment of earned leave f.
Compute the amount exempt regarding

(6)

for voluntary retirement (VRS) after
He received 1,20,000 a

the Assessment year 2018-19.

b) Mr. Govind aged 53 years opted
7 months. .
ars and 5 months of service left. His jog

pensation on V0|untary

serving for 24 years and

compensation. He had 6 ye

t com
drawn salary was ¥15,000. Find out taxable

(6)

of the floor area is let out for residentia|

Retirement from service.

Mr. Keshav owns a big house. 50% )
purposes on a monthly rent of ¥22,500. 25% of the floor area is used by the

owner for the purpose of his profession while remaining 25% of the floor are;
is utilized for the purpose of his residence. Other particulars of the house are

as follows:

a) Municipal Valuation ¥6,00,000.

b) Standard Ret ¥9,00,000.

c) Municipal Taxes paid ¥80,000.

d) Repairs ¥30,000.

e) Interest on capital borrowed for renovation (in 2012) ¥3,00,000.

f) Ground Rent Z8,000.

g) Annual Charges ¥10,000.

h) Fire Insurance Premium ¥12,000.

1) Assessee realized ¥45,000 unrealized rent of the previous year 2015-16.

Compute the taxable income from house property of Mr. Keshav for the
Assessment Year 2018-19.

SECTION - C
Answer any TWO of the following.

(2x16=32)
What is a ‘Perquisite'? Explain the valuation of :

1) Rent free accommodation.
2) Motor Car.

Mr. Rahul is an employee in a company in Chennai

information: He gives the followind
n ]

a) Basic pay 40,000 p.m,
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h)
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City compensatory allowance of ¥500 p.m.

He received education allowance of 3800 p.m. for two children. He has
two children studying in a college.

He received hostel allowance of ¥400 p.m for one child.

He contributes 14% of his salary to Recognised Provident Fund with
equal contribution from the company. '

Interest credited to RPF at 10% p.a. amounted to ¥30,000.

He is provided with rent free furnished house for which company pays a
rent of ¥78,000 p.a. Cost of furniture 80,000 (written down value
¥50,000) is also provided to him.

The company has given a car of 1.6 Ltr CC which is used by him for his
private purposes also. All expenses relating to use of the car including
driver’s salary are borne by the company.

His father was admitted to a private hospital (approved) and medical
bill amounted to ¥50,000. Company paid 50% of this bill amount.

During the year Mr. Rahul paid ¥2,400 as profession tax, LIC premium of
20,000, repaid housing loan of ¥30,000 (including interest T14,000) and
deposited ¥10,000 in Public Provident Fund.

Compute his taxable salary and deduction u/s 80C for the Assessment Year
2018-19.

Mr. Praveen owns four houses, the details of which are as follows:

Particulars I il III v

() ®) ) ®)
Annual Municipal Value 30,000 15,000 12,000 12,000
Fair Rent 28,000 21,000 18,000 20,000
Rent per month 3,000 2,000 1,500 1,800
Standard Rent 32,000 18,000 21,000 18,000

Vacancy period (months) 3 - 1 1

Municipal Tax:

3,000 1,500 = -

Paid
Due g " 1,200 1,600
Repairs 10,000 12,000 6,000 14,000

For the construction of the third house, he had borrowed ¥2,50,000/- @12%
p.a. on 1-8-2014. The house was completed on 31-10-2016. Nothing has
been repaid on account of loan so far, In respect of the fourth house one

month rent was unrealized, the claim was genuine and the conditions of

Rule 4 are satisfied.

Compute the taxable house property of Mr. Praveen for the Assessment Year
2018-19.

Contd...4
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Answer the following: Compulsory
17, Compute the total Income of mr.Sachin from

t
1) Ordinary Resident 1) Not Ordinary Residen

a)

b)
c)
d)
e)
)]

a)
h)
)

1)

‘-H&u;,:za b
. ."n. B A
“ Page No.q
- SECTION = D
(10)

the followlng particulars; if he g

iii) Non Resldent
T r services rendere
Salary recelved in India (including 230,000 fo &

Nepal) ¥1,80,000.

ondon ‘-\.4:00!000'
Business income in Pune, controlled from L

alore ¥1,60
Business income from Australla, controlled from Mang : /000,

¥85,000.
Agricultural income from land situated in St Lanka

Profit on sale of bullding In Bangalore recelved In London T11,50,000,
Dividend from Indian company ¥15,000.

Interest on deposits with companles In Indla 180,000.
Gift from a friend on the occasion of marriage ¥65,000.

Interest on German Development Bonds (Half is received in India)
80,000,

Past untaxed forelgn Income brought to India ¥15,000.

YLt

1
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October - 20318
COST ACCOUNTING- I

Time: 3 Hours

Max. Marks: 100
SECTION - A

Answer any FIVE of the following: (5x2=10)

1.

Define cost accounting,.

2. What is cost centre? State the types of cost centre.
3.
4
5

Mention any four advantages of centralized purchasing.

What is idle time? State its causes.

. Calculate the Economic ordering quantity from the following information:

Consumption of materials per annum — 10,000 kgs
Order placing cost /order - X 50

Cost /kg of raw materials - ¥ 2

Carrying cost — 8%

What is ABC analysis?

What is Labour turnover? Name the different methods of measurement of labour
turnover.

SECTION -B

Answer any FOUR of the following: (4x12=48)

8.

10.

Explain the classifications of cost on the basis of elements, functions and

behaviour.

Two components A& B are used as follows:
Normal usage : 50 units /week each
Minimum usage: 25 units/week each
Maximum usage: 75 units/week each
Reorder quantity : A — 300 units
B- 500 units
Reorder period : A — 4 10 6 weeks

B - 2 to 4 weeks
Calculate for each component:

1) ROL 2) Minimum level 3) maximum level 4) Average level.
Calculate the machine hour rate from the following information :
Cost of the machine - ¥2,00,000
Cost of installation of machine - ¥ 60,000
Scrap value after 10 years - 20,000
Rent and rates per month -X 9,000
Insurance premium for the machine per annum - X 4,800

Contd...2
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GRoAn 0.2

) { L 213,000
Repairs and maintenanes per ninut T

'actory Iighlinp per month - T 2,000 ' ; "

; A e swunit) - ¥ 12
Power bill for the month (10 units/ hour at the rate ol T06 p(‘;ill ) =R .I.._,um,
2.000; cotton Was(e, ofl ete/month - T 409,y

] . "
g AR \ i) - N '
Wages of operator /month The superior % ™ of his v
1 iy

. an of the fnetory.
machine occupies Ya o the total nred of the Y
on his machine,

“ 0ee icing issucs 0
1. From the following prepare SLOres ledget account pricing at weighyg

average price.

[ January 1 G I L L Tisikg
T (Tuhwed |0 @ ok
Tﬁﬂﬁ;tpr_\"_-lu_d " ssued il o i 1,200 kps ]
), aim;-_ I _:5-1‘1:1:];1; W\\'ork order 300kps
returned i -

Jonuary 15 iﬂv[‘i:ﬁﬂi&lﬁﬁ'mmd 7,050 kps .
Tﬁmﬁﬁ-_*_’ Tesued 4,000 kgs

January 25§ Purchased 4,980 kps@ T 13/kg
January 30 | Issued ] 3,000 kgs

12. From the following particulars calculate carnings for a week under:
a) Halsey's plan b) Rowans plan ¢) Taylors Deferential piece rate system
i) Number of working hours/week — 48
i)  Wages/ hour - X 3.75
iti)  Rate/picce -T 1.50
iv)  Normal time/picce - 20 minutes
v)  Normal output /week =120 picces
vi)  Actual output for week - Mr A - 150 pieces
Mr B -110 picces.
vii)  DifTerential rate:
Lower picce rate - 80%
Higher piece rare -120%

13. The net profit of ABC trading company as per cost books for the year ended 31-1F
2016 was T 86,460. A carcful scrutiny of the figures from both the sets if accou
revealed the following causes for difference:

i) Income tax provided in financial books - ¥ 20,000
ii)  Bank interest (credit) in financial books - ¥ 250
iii)  Works overhead under absorbed - ¥ 1,550
iv)  Depreciation charged in financial records - ¥ 5,600
v)  Depreciation charged in cost records - ¥ 6,000
vi)  Administrative overheads over absorbed - ¥ 850
vii)

Obsolescence loss charged only in financial books - ¥ 2,800
viil) ’

. Interest (?n investment not included in cost books T 4,000
ix)  Stores adjustment (credit) in financial books - T 240

X) Lots o!'fﬂo-ck charged in financial accounts ¥ 3.350
Prepare a reconciliation statement. 5 ,350.

coﬂ""l
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SECTION-C
Answer any TWO of the following: (2x16=32)
14. Following are the particulars for the production of 2,000 machines for the year
2016:
Particulars Amount (%)

Cost of materials 1,60,000
Wages 2,40,000
Manufacturing expenses 1,00,000
Depreciation (office) 1,20,000
Rent, rates and Insurance (office) 20,000
Sclling expenses 60,000
Gencral expenses 40,000
sales 8,00,000

15.

The company plans to manufacture 3,000 machines during 2017. You are required
To submit a statement showing the price at which machines would be sold so as to
carn a profit of 10% on selling price. The following additional information is
supplied.

¢ Price of materials is expected to rise by 20%

e Wage rates arc cxpected to show on increase of 5%

e Manufacturing expenses will rise in proportion to the combined cost of

materials and wages.
e Sclling expenses per unit will remain the some
e Other expenses will remain unaffected by the rise in input.

Following receipts and issues of material ‘M’ were made during the month of
March 2017:

Stock of material on 1" March was 400 units @ ¥ 50/unit

March 2 — Purchased 100 units @ I 55/ unit

March 6 — Issued 400 units

March 10 — Received 600 units @ X 60/unit

March 13 — Issued 500 units

March 15- received 500 units @) 65 /unit

March 18 - Issued 600 units

March 20 — returned from work order 100 units

March 21 — Purchased 800 units @ < 70 /unit

March 24 — Issued 500 units

March 26 — issued 200 units

March 28 — received 500 units T 75 unit

March 30 - Issued 400 units

March 31 — purchased 300 units @ T 80 /unit

Stock verification report reveals a shortage of 20 units on March 16 and a rupees of
10 units on March 29.

Prepare stores ledger account under FIFO method showing above transactions.

Contd...4
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16, Inga factory tifere are 3 production departments A, B, C and 2 fer\.uce:? depa“mems
D and E. From the following ~details, prepare secondary distribution Summar}-
under simultaneous equation method.

Indirect materials ¥ 15,000

Indirect wages ¥ 10,000
Depreciation on machinery ¥ 25,000
Depreciation on buildings ¥ 5,000
Rent and taxes ¥ 10,000

Power ¥ 15,000

Lighting T 500

Gencral expenses 2 15,000

Other details:

[ Particulars A B C D E
Direct materials () 20,000 | 10,000 | 20,000 | 10,000 | 10,000 |
Direct wages () 15,000 | 15,000 [ 4,000 | 2,000 | 4,000
Value of machinery (3) 50,000 | 1,00,000 | 75,000 | 25,000 | 50,000
Floor area (Sq feet) 1,000 1,500 | 1,500 500 | 500
H.P of machines 8 7 15 5[ 5]
Light points 6 8 2 i —__.__—_5“

Department D and E render the services as follows:

Department A B C D ¥

D 40% | 20% | 30% - 10%

E 30% | 30%| 30%| 10% B

SECTION-D
Answer the following: (1x10=10)
17. Following particulars are related to a standard product ‘NOVA’ for half year ended
30.06.2017
Particulars Amount (%)

Purchase of materials 1,32,000

Works overhead 44000 ]

Stock on 1.1.2017

Materials 22000

Finished goods(1,600 units) 17,864

Work in progress 5,280

Cost of factory supervisions 8,800

Wages R 1,10,000

Carriage inwards 1,584
Stock on 30.06.2017 T ey

Materials __Tmoe
Finished goods (3,200 units)

35,000
Work in progress : 17.600

Adveniscmt?nl —  I®ovs o
Administrative overheads

— 112336
| Sales — 1330000
Units produced 25,600
— |35,
Prepare a cost sheet and find oyt the profit for the period

Ll 12
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PERFORMANCE MANAGEMENT

Time: 3 Hours Max. Marks: 100
SECTION - A
Answer any FIVE questions of the following: (5x2=10)

1. Explain the term desk research.

2. Explain the basis for setting a transfer price.

3. A company makes two products using the same type of materials and
skilled workers. The following information is available:

Product A | Product B

Budgeted volume (units) 1,000 2,000

Material per unit ($) 10 20

Labour per unit ($) 5 20
Fixed costs relating to material handling amount to $100,000. The cost
driver for these costs is the volume of material purchased.
General fixed costs, absorbed on the basis of labour per unit, amount to
$180,000.
Using activity-based costing, what is the total fixed overhead amount to be
absorbed into each unit of product B (to the nearest whole $)?

4. You have been provided with the following information relating to three
products:

Product X Product Y Product Z
Demand (units) 1,000 2,000 3,000
Selling price $15 $20 $30
Profit per unit $2 $5 $2
Actual sales for the year showed the following results.
Product X Product Y Product Z
Units sold 1,100 2,050 2,800
Sales value $17,050 $38,950 $86,800
Profit $3,080 $10,455 $6,160
What is the sales quantity variance?

5. If the demand for & product is 5,000 units when the price is $400 and 6,000
units when price is $380, what is the optimal price to be charged in order to
maximize profit if the variable cost of the product is $200?

6. Write four features of strategic report.

7. A company manufactures and sells a single product with a variable cost per

unit of $36. It has a contribution ratio of 25%. The company has weekly

fixed costs of $18,000. What is the weekly breakeven point, in units?
Contd...2
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SECTION - B
Answer any FQUR cuestions of the following: (“*12-43)
8. Advent Company has a maximum capacity of 2,20,000 units pey i

Normal capacity Is 1,80,000 units per year. Vnrlnblgog‘m)r'\;facturlng Costy
are T 11 per unit, Fixed factory overhead Is ¥ 5,40, : nlr QYE“;- Variap,
selling costs are ¥ 3 per unit, while fixed selling costs are 92,000 Per
year, Sale price Is T 20 per unit.
Required:
A. What Is the break-even polnt expressed In rupee s;alt*:i’Ir
B. What will be the sales unit to earn a target net profit of ¥ 42,000 g,
Income tax, assuming Income tax rate to be 30%?
C. How many units must be sold to earn a net Income of 10% on sales?
D. What should be the selling price per unit If breakeven point |s tq be
brought down to 1,00,000 units?
E. What will be the margin of safety when profit Is ¥ 1,20,0007

9. The following is relevant for a production process
Direct material cost $ 10,000
Direct labour cost $ 5,000
Overheads $ 3,000
Total cost $ 18,000

The process produces joint product A and B, which are then sold at the
prices given below.

A B
Unit of output 2,000 | 8,000
Price per unit $5 $2.5

Calculate the cost of sales and gross profit for Product A & B assuming
ill) joInt cost are apportioned by market value

iv) joint cost are apportioned by production units.
10. Bowd Co manufactures two products, Dest and Else. A few years ago, Bowd
Co changed from absorbing overheads on a unitary basis (total overheads/
total units produced) which gave an overhead per unit of $106.21, to the
current system of absorbing overheads on a labour hour basis.

Bowd Co Is now conslidering changing to Activity Based Costing (ABC) as the
method used to absorb overheads Into production,

The following information Is available:

Direct labour | Annual | Number of | Number of
hours per unit output orders set ups
Dest 4 1,500 200 65
Else 3 2,000 275 60
The fixed overhead costs of $371,750 have been analysed:
$
Purchasing related 142,500
Set up related 31,250
Other 198,000
Using ABC, what Is the overhead cost per u for
nit, laces
each unit of Else and Dest. S e deddmal ‘
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11. Gam Co sells electronic equipment and is about to launch a new product
onto the market. It needs to prepare its budget for the coming year and is
trying to decide whether to launch the product at a price of $30, or $35 per
unit. The following information has been obtained from market research:

Price per unit $ 30 Price per unit $ 35
Probability | Sales volume Probability | Sales volume
0.4 120,000 0.3 108,000
0.5 110,000 0.3 100,000
0.1 140,000 0.4 194,000

The six possible profit outcomes which could arise for Gam Co in the coming
year have been correctly tabulated as follows:

Price per unit $ 30 Price per unit $ 35
Sales volume Profit Sales volume Profit
120,000 $930,000 108,000 $172,000
110,000 $740,000 100,000 $880,000
140,000 | $1,310,000 194,000 $742,000

What is the expected value of profit for the $30 price option?
What is the expected value of profit for the $35 price option?

12. Mylo runs a cafeteria situated on the ground floor of a large corporate office

block. Each of the five floors of the building are occupied and there are in
total 1,240 employees.

Mylo sells lunches and snacks in the cafeteria. The lunch menu is freshly
prepared each morning and Mylo has to decide how many meals to make
each day. As the office block is located in the city centre, there are several
other places situated around the building where staff can buy their lunch, so
the level of demand for lunches in the cafeteria is uncertain.

Mylo has analysed daily sales over the previous six months and established
four possible demand levels and their associated probabilities. He has
produced the following payoff table to show the daily profits which could be
earned from the lunch sales in the cafeteria:

Supply level
Demand level | Probability 450 620 775 860
$ $ $ $
450 0.15 1,170 980 810 740
620 0.30 1,170 | 1,612 1,395 1,290
775 0.40 1,170 | 1,612 2,015 1,785
960 0.15 1,170 | 1,612 2,015 2,496

If Mylo adopts a maximin approach to decision-making, which daily supply
level will he choose?

If Mylo adopts a minimax regret approach to decision-making, which daily
supply level will he choose?

13. Explain the need to allow for external consideration in performance
management.

SECTION -C

Answer any TWO questions of the following: (2x16=32)

14. The Gadget Co produces three products, A, B and C, all made from the
same material. Until now, it has used traditional absorption costing to
allocate overheads to its products. The company is now considering an
activity based costing system In the hope that it will improve profitability.
Information for the three products for the last year is as follows:

Contd...4
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e 0 [ 12,000 | 18 0m

Production and sales volumes (units) 1$57:0500 $12 | 11’009‘*
Selling price per unit 2 3 =
Raw matsrial ussge [icg) pr unit MR
‘D!reg:_t_ Iabour_h_qu_r_s_ per unit 0'5 0.7 *“‘9-2\
Machine hours per uni A .
Number of production runs per annum 24 28 .qB |
Number of purchase orders per annum _“‘3»-.\
Number of deliveries to retallers per annum e 2 22

15,

The price for raw materlals remalned constant throughout the year at g, ,
per kg. Similarly, the direct labour cost for the whole workforce was $14.gg
per hour. The annual overhead costs were as follows:

$
Machine set up costs 26,550
Machine running costs 66,400
Procurement costs 48,000
Delivery costs 54,320

Required:

a) Calculate the full cost per unit of each product using activity bageq
costing,

Rkl Ltd, produces and sells one product only. The standard cost and price
for one unit being as follows:

$
Direct material A - 10 kilograms at $12 per kg 120
Direct material B - 6 kilograms at $5 per kg 30
Direct wages - 5 hours at $8 per hour 40
Fixed production overhead 60
Total standard cost 250
Standard gross profit 50
Standard selling price 300

The fixed production overhead Iincluded in the standard cost is based on an

expected monthly output of 750 units. Riki Ltd use an absorption costing
system.

During April the actual results were as follows:

$

Sales 700 units @ $320 224,000
Direct materlals: A: 7,500 kg 91,500
B: 3,500 kg 20,300

Direct wages 3,400 hours 27,880
Fixed production overhead 37,000
176,680

Gross profit 47,320

Note: Riki Ltd does not hold any inventories.
Required:

You are required to reconcile budgeted profit with actual profit for the
period, calculating the following variances:

Selling price, sales volume, material price, material usage, labour rate,
labour efficiency, fixed overhead expenditure and fixed overhead volume.

C(mtd---5
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16. A company produces two products in three departments. Detalls are shown

below regarding the time per unit required in each department, the

available hours in each department and contribution per unit of each
product.

Product X Product Y
hrs per unit hrs per unit | Available hours
Dept A 8 10 11,000
B 4 10 9,000
C 12 6 12,000
Contribution P U $4 ¢ 8

There is unlimited demand for Product X, but demand for Product Y is
limited to 600 units per annum.

Required: Determine, using a step-by-step approach, what the optimum
production plan.

SECTION - D

Answer the following: (1x10=10)
17. ALG Co is launching a new, innovative product onto the market and is trying

to decide on the right launch price for the product.

The product’s expected life is three years. Given the high level of costs
which have been incurred in developing the product, ALG Co wants to
ensure that it sets its price at the right level and has therefore consulted a
market research company to help it do this.

The research, which relates to similar but not identical products launched by
other companies, has revealed that at a price of $60, annual demand would
be expected to be 250,000 units. However, for every $2 increase in selling
price, demand would be expected to fall by 2,000 units and for every $2
decrease in selling price, demand would be expected to increase by 2,000
units.

A forecast of the annual production costs which would be incurred by ALG
Co In relation to the new product are as follows:

Annual production units | 200,000 250,000 300,000 350,000
$ $ $ $
Direct materials 2,400,000 | 3,000,000 | 3,600,000 | 4,200,000
Direct labour 1,200,000 | 1,500,000 | 1,800,000 | 2,100,000
Overheads 1,400,000 | 1,550,000 | 1,700,000 | 1,850,000

Using the high-low method, the variable overhead cost has correctly been
calculated at $3 per unit.

1) What is the total variable cost per unit?

A. $6 B. $12 C. $18 D. $21

ii) What are total fixed overheads?

A. $800,000 B. $1,000,000 C. $1,850,000 D. $6,500,000

B ek

Scanned with CamScanner

oy,

-



G 701.3 Reg. No.

{.4Lc, 5. 0 CULLEGE LIBRAR 25

MANGALORE-575003

ca

(2016 batch onwards) =

St Aloysius College (Autonomous)

Mangaluru
B.Com./B.B.A Semester III - Degree Examination

October - 2018
FOUNDATION COURSE IN HUMAN RIGHTS AND VALUE EDUCATION

Time: 3 hrs. Max Marks: 100
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II.

10.
11

PART - A
HUMAN RIGHTS

Answ?r all the following questions in three sentences each. Each
questions carries one mark: (1x5=5)

What are Human Rights? Why do you think they are essential?
Which day is celebrated as ‘Consumer Rights Day’ in India?
Name the Religious Minorities in India.

Who founded Amnesty International? What is its logo?

Who is a refugee?

Answer any FIVE questions in about a paragraph. Each question
carries 3 marks: (5x3=15)

Aruna Ramachandra Shanbaug, a nurse of King Edward Memorial Hospital
was in a vegetative state since 1973 after she was sexually assaulted by a
ward boy. Seeing her in a vegetative state for 37 years, a journalist and an
activist Pinki Virani pleads for euthanasia in the Supreme Court in 2011.
Supreme court rejects her plea but allows for passive euthanasia.

What are the fundamental rights euthanasia violates?
What is your opinion about euthanasia?

Prem Tukaram Lonke, a project assistant and a resident of the Indian
Institute of technology Bombay, bought two trousers and two shirts from
Maharastra Family Showroom, a nearby garments store in the Mumbai suburb
of Powai. The 34 year-old customer paid a total of ¥3050 after a 10 percent
discount. Unsatisified with the quality of goods, Lonke returned them to the
store the next day and got a new set of clothes in exchange. Still unsatisfied
he asked the company to take it all and refund his money. However company
refused to do so. Hence Lonke filed a complaint before the Local District
Consumer Forum and his plea was rejected by the Forum, therefore he
appealed before the Maharastra State Consumer Disputes Redressal
Commission.

Do you think Lonke is justified in claiming of his grievance Redressal?

Should Maharastra family showroom be made to return any cash despite its
stated policy?

Examine the nature of Human Rights,
Examine any two types of Human Rights.
What is meant by Consumer Rights?

Does transgender enjoy any rights? What are the reasons to promote their
rights?
Contd...2
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TH. Answer any FIVE questions in about 10 sentences each. Each

: X5=25
question carries 5 marks: v )

12. Write a note on unorganized workers.

13. Examine the civil and political rights enshrined in the UDHR.
14.  Explain in brief the Consumer Protection Act, 1986.

15.  Examine the convention on Racial Discrimination.

16. Who are refugees? How are refugees protected?

17.

Write a note on Human Rights Watch.
18. Explain the role of students in promoting Human Rights.

IV. Answer any ONE question in about 20 sentences. The question carries
10 marks: (1x10=10)

19.  Explain the role of IGO‘s and NGO's in protecting Human Rights.

20. Discuss the organization, powers and functions of National Minority
Commission.

V. Answer any ONE question in about 40 sentences each. The question
carries 15 marks: (1x15=15)

21. Examine the organization, powers and functions of Amnesty intenational.
22. Discuss the role of National Human Rights Commission in India.

PART - B
(VALUE EDUCATION)
VI. Answer any FOUR questions in about 8-10 sentences. Each question
carries FIVE marks: (4x5=20)

23. Define Human Sexuality. Explain the evoluation of human sexuality with the
help of a diagram.

24. Examine the attitudes of various religions towards sex,
25. Discuss the ways in which HIV-AIDS is spread.

26. Friends of the heart are friends forever, Do you agree with this statement,
State your reasons.

27. Explain the four stages of Marriage preparation.
28. What are the reasons for high birth rate?
VII. Answer any ONE question in about 20 sentences, The Question

carries 10 marks: (1x10=10)

29. Discuss the ten important elements in a healthy marriage relationship
30. Explain the benefits of breast feeding. '
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UNITI - PROSE
I A Answer the following in a word, phrase, or sentence each. (5x1=5)
1. What is “Tongue Fu"? ST.ALOTSIUS COLLEGE _Lll_:_'r‘.PxHi
2. Who colned the term “Hurry sickness”? MANGALOKE-575003
3. Shobha De's generation called themselves liberated and modern because they
were influenced by
4, What according to the author is the ‘tunnel vision’ given to us by technology?
5. How did the Directors son survive the tsunami.
1B Answer any FOUR of the following in about 150 words each. (5x4=20)
1. ‘A spoken word flles : you won't catch it". Substantiate the statement in
context to Sam Horn'’s ‘How to Avoid an Argument’.
2. How did the IRS and tall man Cope with negativity?
3. Shobha De states that the new generation has found a perfect compromise
when it comes to marrying. Comment.
4. What are the reasons stated by Shobha De as to why her parents marriage
worked?
5. Write a note on the havoc caused by the tsunami.
6. What kind of a man do you think the director was? Explain with reference to
the prose ‘A Town by the Sea’.
UNIT I1 — POETRY
I A Annotate any TWO of the following in about 150 words each. (2x5=10)
“Teach him always
To have sublime faith in himself
Because then he will always have
Sublime faith in Mankind”
2, “Today the world is a little more my own
No need to remember the pain
A blue frocked woman caused,
Throwing words at me like pots and pans”.
3. “These are the times of tall men, and short character;

Steep profits and shallow relationships,
These are the times of world peace, but domestic warfare,”
Contd...2
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IB Answer any TWO of the following in about 150 words each. (2x5=10]

1. “Development of faith is the development of character”, explain the followy,
| with reference to the poem by Abraham Lincoln.

2. In "The Listeners” Who do you think the traveler is expected to meet? Whas
is his reaction to the phantom listeners?

3. What is the message that is conveyed by the poet His Holiness the Dalai L5
in the poem “The Paradox of our times”?

UNIT IIT - DRAMA

IA Answer the following in a word, phrase,

ma

or a sentence each.  (5x1=5)
Why does Peter have two Television Sets?
Peter’s daughters have as pets.

The “Vaudeville act” was a form of popular __ in America in the 1920's
(sport, entertainment, cabaret, media)

Jerry's landlady is a misanthrope, meaning

(one who hates women, one who hates dogs, one who loves humankind)
S. Jerry's aunt was “neither given to sin nor the consolations of the bottle”
Explain this quote,

IB Answer any TWO of the following in about 200 words each. (2x10=20)

The conversation between Peter and Jer
on marriage, wife, children, family and
comment on the unusual Situation.

2. Jerry describes his “everyday” experience in terms of the people he sees at

his"four-storey Brownstone rooming-house” and his measly possessions. What
picture of life does he give? Explain.

ry at the beginning of the play dwells
pets. Analyze this conversation and

Jerry’s unusual and complex relationship with

much about Man- animal relationships and the i
“Master-slave”

the land lady’s dog tells us so
dea of keeping pets. There is a
nd their human owners that 5

es Albee deal with this issue in
the play?
UNIT IV GRAMMAR AND WRITING SKILLS

I Choose the appropriate word/phrase for the underlined (5x1=5)
idiom given in the brackets below.

1. The sports team was
winning the overall championship at the me

2. When Jack started his narra
ab

When they heard that they were
ga sports meet.

tion about hjs holiday adventures and told us
out an encounter with some pirates we understood that it was

3. After dropping dow
from their mother.,

4. The declaration of a rain h
students who were sick an

n the new crockery to bits, the kids had to

oliday turned out to be a
d down with fever.
5. Joan stood by her children through

(face the music, thick and thin,
blessing in disguise)

for the

till she saw them succeed in life.
on cloud nine, a cock and bull story,

Contd...3
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IT Fill in the blanks with appropriate binomials. (5x1=5)

The philosopher travelled far and

2. When the headmaster announced the rules of the quiz he was loud and

3. The stray animals are all skin and because they hardly
get any food to eat.
“The Little prince” is a short and novel.

5. The boarders were sick and of the predictability of the menu in the
boarding.

III Write a letter of complaint to the sales manager of Greentree (5)
Book Company about the poor quality of paper used in
manufacturing the notebooks and the illegible print of the text
HOoHS: ST.ALOYSIUS COLLEE LiBRARY

MANGALURE-375003

IV The graph below shows the sales of Korean smart phones (5)
from 2012-2017 in terms of unit pieces, in the district of
Udupi in Karnataka. Write a report describing the information
represented below.

g 35000

g 30000

> 25000

2 20000 a—
= n

g 15000 i
o A

%

s 10000 S
=] = el

3 . i he . o -
LS B .

E 0 - o }ga g k2 M oy

o 1 T T 1 1 1

2012 2013 2014 2015 2016 2017

V Choose appropriate words from the list given below and fill in the

blanks to complete the paragraph.

(5x1=5)
He could not pay back the debt he had accumulated due to
his habit of spending on trivial things. His
lifestyle was often criticized by some of his closest friends but he didn't
really bother about it. It was futile to convince him to change his
habit. He was moving close to bankruptcy.

(plump, enormous, brusquely, lavishly, greedy, extravagant, grossly,
utterly, cautiously, dangerously)

Contd...4
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VI Read the following passage and answer the questions given
not more than a sentence each:

Curriculum vitae, literally “the course of ones life” or CV, is the terrf'i most
commonly used in Europe. In the United States, resume is the usual title. It-s
purpose s to provide sufficient information for prospective employers or-their
agents to register interest in you. There are many conventions aboujc CVs
around the world. In the USA, a one-page CV is standard, while in continental
Europe, Many employers would expect a four or five page CV that Includes
detalled information on educational achievements and professional
qualifications. We live in an age in which we are all increasingly responsible
for the development of our own careers. There is no “right way” to create a
perfect CV; we are all individuals and our CVs will all be different. Creating a
successful CV helps you to identify your uniqueness and guides you through

planning, creating and using your CV. Your qualifications and experience are
only part of your personal assets.

Your behaviour as an individual is more important to employers than what you

know, and they are more interested in what you can do in the future -than
what you have done in the past.

(5x1=5)
1) What is a CVv?

2) What is the purpose of a CV?

3) How are conventions with regard to CV different in different parts of the
world?

4) How does creating a successful CV help any individual?

5) What is more important to prospective employers than ones
qualification and experience?

3 30k 3 R % Kk kK
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St Aloysius College (Autonomous)

Mangaluru

B.A. /B.Sc./B.Com. - Semester III -Degree Examination
October - 2019

ADDITIONAL ENGLISH

Time: 3 hrs. Max Marks: 100
UNIT-1I
(Short Story and Prose)
I Answer any ONE of the following in about 150 words: (1x5=5)

1. What are A.G. Gardiner’s views on the custom of shaking hands?
2. How would you describe Qkeki's character? Use details from the story
‘Marriage is a Private Affair’ to support your answer?

II Answer any TWO of the following in about 250 words each:

(2x10=20)
Explain the ways that the Indians, Chinese and Japanese people greet.

2. The story ‘Marriage is a Private Affair’ is full of conflicts among people and
ideas. What are the least two of these conflicts? Does the story resolve

them? If so, how?

3. The story’s subject is a marriage that occurs against parent’s wishes.
Elaborate on the theme of the story.

ST.ALOYSIUS COLLEGE LIRRARY

UNET~ &k MANGALORE-575003
(Poetry)
I Answer the following in about 150 words each: (4x5=20)

How does the poet depict the struggles of the scholar in the narrow street?
2. The river of Heaven speaks about the Imagery River, Heaven and God. What
is your opinion abut the imagery that is provided in the poem?
3. How does the poet portray wine as the symbol of prosperity and good

health?
4. Who is Osiris? How do the Egyptians worship Osiris?
UNIT - III
(Novel)
I Answer the following in about 150 words each: (1x5=5)

1. What is the nature of Clara and Alice’s relationship?
II Answer any TWO of the following in about 300 words each:

(2x10=20)
1. Patrick watches Finnish loggers skating at night, observing them at play.

How does this prelude determine his later interactions with other immigrant
communities?
Contd...2
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What is the symbolic significance of Patrick becoming a searcher? How is he
a searcher throughout life? What is he searching for?
What Is the significance of the title of the novel ‘In the skin of a Lion’ ang
prefacing quotation from the Epic of Gilamesh?

| UNIT - IV

(Grammar and Vocabulary)
Write a dialogue of 15 turns on the following: (10)
Two students discussing the cause and effects of the Kerala floods.
Make sentences on the following: (5x1=5)
Rest (relax)
Rest (remaining)
Stunt (check the growth of)
Stunt (a daring feat)
Lie (at rest) or lie (make false statement)
Rewrite as directed:. (5x1=5)
She is honest. (Transform into a negative sentence without changing the
meaning of the sentence)
We shall forever be grateful to you. (Transform into a negative sentence
without changing the meaning of the sentence).
Burj Khalifa is the tallest building in the world. (Transform into a negative
sentence without changing the meaning of the sentence).
Keep off the grass. (Transform into an interrogative sentence).
Shut up and listen! (Transform into an interrogative sentence).

Write a speech of about 100 words on the following: (5)
You are the chief guest at the Literary Fest at your college.
Fill in the blanks to complete the clichés: (5x1=5)

Ignorance is ===--=----- )
You can't judge a book by its =====--=---- ;
Old habits dig ------=====- ;

Laughter is the best ==========--- 1

The calm before the ------------ ,

o o ok ok e o ok ok e o o ok o ok
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St Aloysius College (Autonomous)
Mangaluru

B.A./B.Sc. /B.Com. Semester III - Degree Examination
October - 2019
FRENCH

Max Marks: 100

Time: 3 hrs.

1. Mettez le texte au passé¢ compose 10

La directrice de I"¢cole autorise I’organisation d’une kermesse de fin d’annce. Elle

demande des idées aux ¢léves. Charlie pense a une tombola tandis que d’autres
proposent une course au sac. Les enfants demandent la date de la kermesse & leur

maitre. 1ls rédigent ensuite une affiche pour les parents. Le jour venu, de nombreux
stands sont installés et les jeux se déroulent & merveille ! Les enfants rentrent chez eux

fiers et heureux ! .
Kermesse: fair ST.ALOYSIUS COLLEGE LIBRARY
N MANGALORE-575003
2. Mettez les verbes au subjonctif 5
a) Il faut que til oooesoiinsniasoiass la vaisselle ce soir. (faire)
b) Jeveux quil wsueusinivienns avec nous. (nous)
c) 11 est essenticl que NOUS ..venvens ... le train. (prendre)
d) Je regrette que VOUS wovveveenens malade. (étre)
¢) Je voudrais que Vous ............n avec moi. (sortir)

3. Mettez i la forme passive

L7

Le Président frangais a regu le Premier Ministere anglais. 1ls ont abord¢ le probléme de le
peche. 1ls ont pris des mesures communes. Les syndicats de pécheurs ont refus¢ les

propositions du gouvernement. Ils iront aux gréves.

4. Mettez les verbes a Ia forme qui convient

a) Si elle te donne de I'argent, ¢€ qUE I .ooviiiiinnne (faire)?

b) S'il avait de la patience, il ...oooeiiiiiiiin (développer) ce jeu vidéo.

c) Situes fatigue, ...ocoooiiiiiiin (se reposer).

d) Situ as 'appareil photo, (prendre) une photo!

e) Sij'éaisriche, j’........ ..... (acheter) une maison.
5. Mettez a I'indirect 5
Max : Qu’est-ce que tu fais demain ?
Pitt: Je vais au concert avec Jules.
Max : Tu es libre dimanche?
Pitt: Je vais chez mes grands-parents.
Max : Ou habitent-ils ?
Pitt: A 14° arrondissement.
Max m’a Hemaide .....onssssnmosnmsieiies

Contd...2
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3 Page No, 2
G 150.
6. Répondez anx questions Sx6=30
2) Quels sont les sports les plus pratiqués, les plus regardés dans votre pays ?
b) Parlez d'un objet ancien dans votre maison.
&) Eerivez d'un peintre céldbre
d) Expliquez une {@te frangaise
¢) Parlez d'un mouvement de peinture
) Expliquez le marathon de Paris,

2) Quel est votre plus grand exploit ou votre plus grande réussite.

7. Dialogucez. 10

Vous devez faire une activité originale. Mais deux d’entre vous ne sont pas d’accord.
ou

Un ami est parti seul en vacances dans un pays étrangére. Elle devait rentrer il y a trois
Jours. Vous n"arrivez pas & avoir de ses nouvelles.

8. Ecrivez une lettre & votre ami sur un des sujets

10
Décrivez une recette frangaise
Ou
Vous avez visité un pays. Déerivez les habitudes dans ce pays.
9. Compréhension 10

Lisez le texte et répondez aux questions

Des gilets de haute visibilité de couleur jaune portés par les manifestants — est
un mouvement de protestation non structuré apparu en France en Octobre 2018, Ce
mouvement social spontané trouve son origine dans la diffusion, principalement sur
les réseaux sociaux, d'appels & manifester contre l'augmentation du prix des carburants

automaobiles issue de la hausse de la taxe intérieure de consommation sur les produits
énergétiques (TICPE).

A partir du 17 novembre 2018, la contestation s'organise autour de blocages de routes
et ronds-points et de manifestations tous les samedis. Ces protestations mobilisent surtout
les habitants des zones rurales et périurbaines, mais s’organisent également dans

des métropoles, ol se produisent plusieurs épisodes violents, notamment sur I"avenue des
Champs-Elysées.

Rapidement. les revendications du mouvement s'élargissent aux domaines sociaux et
politiques. Lors des rassemblements, le plus souvent non déclarés, plusicurs milliers de
personnes sont blessées, aussi bien du cdté des manifestants que des forces de l'ordre.
Des associations comme Amnesty International critiquent une conduite inadaptée du
maintien de  lordre et des institutions comme I'ONUet le Conseil de

I'Europe s'interrogent  sur l'usage  d'armes comme  les LBD et les grenades (e
désencerclement.

Contd...3
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G 150.3 Page No. 3
Face & l'ampleur de ce mouvement, l'exéeutif renonce @ la hausse de la TICPE. Le
président de la République, Emmanuel Macron, annonce ensuite des mesures, entérinées
par la loi portant mesures d'urgence économiques et sociales, puis lance le grand débat
national, i I'issuc duquel il annonce de nouvelles réformes. Cette réponsc ne mel pas fin
au mouvement : des mobilisations, moins nombreuses, persistent sous différentes formes.

Sous la présidence de Frangois Hollande, l'instauration de la taxe carbone ne rencontre
pas une forte hostilit¢ dans l'opinion publique, le prix du pétrole étant plutdt en baisse
lors de son quinquennat. Mais entre 2017 et 2018, le prix du baril passe de 40 480
dollars environ ; la hausse des tarifs s’éléve 4 28 % pour le fioul domestique, 4 22 % pour
le gaz naturel, & 21 % pour le diesel, 4 13 % pour l'essence’. Le phénoméne est amplifié
par une augmentation de la taxe carbone, prévue dés sa mise en place mais que le
gouvernement d'Edouard Philippe décide d'accélérer. g1 ALOYSIUS COLLEGE LIBRAKY
MANGALORE-575.0J

Alors qu'en 2017, le ministre de la Transition écologique, Nicolas Hulot, n'avait pas eu de
difficultés & faire voter les hausses de la fiscalité énergétique, le débat parlementaire est
beaucoup plus vif en 2018, La Tribune indiquant que « l'incompréhension d'une partic
des citoyens provoque une véritable fronde qui se cristallise sur le prix des carburants ».
Mais le gouvernement ignore les avertissements de la Commission nationale du débat
public, consécutifs au débat public sur la programmation pluriannuelle de I'énergie, sur
l'acceptabilité de la hausse de la taxe carbone, qu'elle juge pénalisante pour « les plus
dépendants et les plus captifs aux énergies fossiles » en l'absence de refonte de la fiscalité

générale.
a) Ou se trouve son origine ce mouvement?
b) Ce mouvement, que demande-t-il ?
¢) Champs-Elysées est le point de départ de la manifestation. Vrai ou faux ?
d) Pour quelle raison I’institution internationale critique le gouvernement ? 2)
e) Qui est Emmanuel Macron?
) Qui sont affecté par la hausse des prix?
g) Qu’est-ce-que La Tribune indique ?
h) Donnez la forme nominale du verbe augmenter

i) Trouvez la former verbale de blessure. Ecrivez I'infinitif du verbe

10. Remplissez les blancs utilisant les mots aidants 5
(arrondissement, quartier, Street Art, balade, promenade)
Cette commence et finit place de la République, dans un grand tour de 2h

environ. Vous profiterez de I'agréable atmosphere du 10eme de Paris,
du canal Saint-Martin, puis du de Belleville et toute une partie du 19¢me

arrondissement, I’une des zones les plus vivantes de la capitale.
En fil rouge de cette , vous découvrirez de nombreux, ¢t surprenants, murs

devenus les supports d’expression favorisdu ___ dans la capitale.

11. a) Expliquez les qualités qu’un journaliste doit avoir et les défauts qu'il ne doit pas
n

-

avoir
b) Si vous aimez la couleur vert, quels sont vos qualités 2
¢) Nommez quelques objets relies i la couleur rouge 1

LR 2
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St Aloysius College (Autonomous)

Mangaluru _
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MALAYALAM
Time: 3 Hours _ Max. Marks: 100
1 ST.ALOYSIUS COLLEGE LIBRARY (2x5 =10)
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St Aloysius College (Autonomous)
Mangaluru
B.Com. Semester III- Degree Examination
October- 2019
FINANCIAL ACCOUNTING - III
Time: 3 hrs, Max Marks: 100
SECTION - A

Answer any FIVE of the following. (5x2=10)
Give the meaning of royalty and mention kinds of royalty.

Branch supplies to Y Branch goods ¥50,000 at the instruction of the Head
office. Pass the Journal entry in the books of the Head office.

3. How will you record the following in the books of head office under stock and
debtors system of accounting?

a) Ifthere is shortage or loss of stock by accident or pilferage
b) When cash is collected from the debtors of the branch

' i ? ST.ALOTSIUS COLLEGE LIBRARY
e MANGALORE-575003
5. What are the characteristic features of Installment purchase system?

6. Net goods sent to Branch ¥ 2,50,000 at cost plus 25% profit. Give the journal
entry for recording loading under stock and Debtors Method.

7. Whois a Lessor and Lessee?
SECTION-B
Answer any FOUR of the following. (4x12=48)
8. On 1-1-2014, Patil Limited leased some land for a minimum rent of 3,000 for

the first year, ¥5,000 in the second year and thereafter ¥10,000 per annum
merged into a royalty of 50 paise per ton with the power to recoup short-
workings over two years after the occurring of short workings. The annual

outputs for the 5 years ending with 315t December, 2018 were:

Years Outputs (tons)

2014 3,000

2015 8,600

2016 22,000

2017 18,000 ( strike for 3 months)
2018 30,000

There was a provision in the lease that in the event of a strike and the
minimum rental not being reached, the actual royalties earned for the year

discharged all rental obligations for that year.

Show royalty a/c, short working a/c and landlord’s a/c in the books of Patil
Limited.

Contd...2
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G 301.3 Jire purchase system and agreed to

9. Raja purch

10.

ased from Rani a machine on I

pay 73,750 down and three installments of ¥ 3,750 each at the end of each

year. The cash price of the machine was %14,000 and the interest involved was

at 5% per annum on outstanding balances. Raja depreciated the truck at 10%

per annum on the W.D.V.

Raja paid the down payment and the installment due at the end of the first

year but could not pay the installments thereafter and Rani took possession of

the machine. Rani spent ¥250 on repairs and sold the machine for ¥ 8,000.

Prepare necessary ledger accounts in the books of Raja and show the
calculation of interest.

On 31-12-2018, the following balances appeared in the books of the
Mangaluru Branch of M/S Leon Ltd having its Head Office in New York.

Particulars . Debit(T) | Credit(X)

Stock on 1-1-2018 12,600

Purchases and sales 75,000 1,12,500

Debtors and Creditors 39,000 26,000

Bills of Exchange 10,400 9,100

Wages and Salaries 4,800

Rent 3,600

Sundry charges 1,500

Furniture and fixture 4910

Bank balance 28,990

New York office account 33,200
1,80,800 | 1,80,800

Stock on 31-12-2018 was Rs.32,500. Mangaluru Branch Account in the books
of New York Head Office showed a debit balance of $2,280 on 31-12-2018.
Furniture and fixture were acquired from a remittance received from New
York of $350 which exactly converted the cost of furniture and fixtures.

The rate of exchange may be taken at:

Opening rate of exchange T14 per $

Average rate of exchange T12per$

Closing rate of exchange Y13 per $

You are required to prepare the converted Trial Balance, Trading and profit

and loss account in the books of New York Head Office.

Contd...3
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Page No.3

Reon purchased a Refrigerator from Mandovi Traders on 1-1-2016 on

installment system.

The payment is to be made as follows;

particulars T

Down payment 4,000
At the end of the first year 7,600
At the end of second year 6,000
At the end of the third year 5,500

Other information:

a) Interest at 10% per annum is included in these installments.

b) Reon charged depreciation on the asset at 20% per annum on the

diminishing balance.

¢) You are required to prepare the necessary accounts in the books of
Reon and also show the interest calculation.

The following were the balances of the Max General Insurance Co Ltd, as on

ST.ALATRINS CALLEGE LIRRARY

SLEaRie MANGALO!{I;-S?SOOB
Particulars Fire Marine &4
(3] ()
Bad debts 10,000 24,000
Provision for unexpired risk on 5,00,000 | 16,40,000
1-1-2018
Additional reserve on 1-1-2018 1,00,000
Auditors fees 2,400
Directors fees 10,000
Share transfer fees 1,600
Bad debts recovered 2,400
Claims paid and outstanding 380,000 | 7,60,000
Commission paid 1,80,000 | 2,16,000
depreciation 70,000
Interest received 28,000
Difference in exchange (cr) 600
Miscellaneous receipts 10,000
Profit on sale of land 1,20,000
Premiums received 12,00,000 | 21,60,000
Management expenses 2,90,000 | 8,00,000
Commission earned on 60,000 | 1,20,000
reinsurance ceded
Contd...4
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a) Provision for unexpired risk is to be kept at 50% of the premiums received

for fire and 100% for marine departments.

b) The additional reserve in case of fire insurance is to be increased by 5% of

net premiums.

Prepare Fire revenue account, Marine revenue account and Profit and Loss

account,

Write a note on AS-14, As 15 and AS 16.

SECTION-C
Answer any TWO of the following.

(2x16=32)

Amrutha Industry Ltd,, Mysore has a branch at Mangalore to which goods are

invoiced at cost plus 25%. The branch sells goods both for cash and credit.

Branch expenses are paid from Head Office and Branch has to remit all cash

received into Head Office bank account.

Particulars Amount )
Stock at Branch 1-4-2018 (at cost) 4,80,000
Debtors at Branch 1-4-2018 7,20,000
Goods sent to Branch (at invoice price) 60,00,000
Goods returned to Head Office ( at invoice price) 1,20,000
Total sales at Branch 56,00,000
Cash sales at Branch 20,00,000
Cash received from Debtors 32,00,000
Discount, bad debts and allowances to Debtors 1,00,000
Sales return ?
Rent, Rates and Taxes 1,80,000
Salaries, Wages and Bonus 6,00,000
Office expenses 60,000
Stock at Branch 31-3-2019 (at invoice price) 12,00,000
Debtors at Branch 31-3-2019 9,40,000

From the above details prepare in the books of the Head office:-

(a) Branch Stock a/c (b) Branch Debtorsa/c  (c) Branch Adjustment a/c

(c) Branch Expensesa/c (d) BranchP&La/c (e) Goods sent to Branch a/c

Scanned with CamScanner

Contd...5



G 301.3

Page No.5

15. Karren Colliery company worked coal under a lease from Mr Royal. the terms

16.

17.

agreed were as follows:
a) Royalty ofT10 per ton.

b) Minimum amount 0f%50,000 per annum

ST.ALOTSIUS COLLEGE LIBRARY

MANGALORE-575003

c¢) Short workings to be recouped only within next two years period with a

maximum of 5,000 p.a only.

d) If in any year the normal output is not reached, the minimum amount

was to be regarded as having been reduced proportionately to the

period of stoppage due to strike.

year Output (tons)
2014 4000
2015 4600
2016 5800
2017 4500( strike)
2018 5400

During the year 2017, there was a strike for a period of 3 months.

Prepare the necessary ledger accounts in the books of lessee.

M/s PVR traders purchased from Raj Motors company, 3 trucks costing

7600000 each on hire purchase systems. Payment was to be made ¥3,60,000

down and the remainder in 3 equal annual installments with interest at 9%

p.a. M/s PVR traders write off depreciation at 20% p.a on the diminishing

balance. They paid the first installment but could not pay the next. Raj Motors

Company agreed to leave one truck with M/s PVR traders adjusting the value

of other two trucks against the amount due. These trucks were valued on the

basis of 30% depreciation p.a on the W.D.V.

Show the necessary ledger accounts in the books of M/s PVR traders and Raj

Motors company.

Answer the following:

Differentiate between:
a) Hire purchase system and Installment system.

b) Dependent branch and Independent branches.
sk eokk Kok

SECTION-D

(10)

(5)
(5)
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B.Com. (ACCA) Semester III- Degree Examination
October - 2019

FINANCIAL REPORTING
Time: 3 hrs. Max Marks: 100

SECTION - A
Answer any FIVE of the following (5x2=10)

1. State any four limitations of ratio analysis.

2. State the main purpose of the Conceptual Framework for Financial Reporting

adopted by the International Accounting Standards Board (IASB).

. An asset was purchased for $100,000 on 1 January 2015 and straight-line
depreciation of $20,000 pa is being charged (five-year life, no residual value). The
annual review of asset lives is undertaken and for this particular asset, the
remaining useful life as at 1 January 2017 is eight years.

The financial statements for the year ended 31 December 2017 are being prepared.
What is the depreciation charge for the year ended 31 December 20177

. Which two of the following items below could potentially be classified as intangible
e §T.ALOTSIUS COLLEGE LIBRARY

A. Purchased brand name MANGALORE-575003

B. Training of staff

C. Internally generated brand

D. Licences and quotas
. The following information relates to three assets:

X Y Z
$000 $000 $000
Carrying amount 100 150 120
Net realisable value 110 125 100
Value in use 120 130 S0

Calculate the impairment loss for each of the three assets.

. On 30 September 2011 GHI purchased 100% of the ordinary share capital of JKL
for $1.8 million. The carrying amount of JKL’s net assets at the date of acquisition
was $1.35 million. A valuation exercise showed that the fair value of JKL’s property,
plant and equipment at that date was $100,000 greater than its carrying amount.
What is the goodwill on acquisition?

. Antony's year end is 31 December. The following events all occurred in January.
State whether the events below would be classed as adjusting or non-adjusting

events.
Contd...2
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. —ThAdjusting| _ Non-
Event || adiusting

A court case from August is settled by Anderson
Completion of the purchase of anwﬂ——
Insolvency of a receivable balance

Evidence showing that the net rea
inventory is below cost I

lisable value of

SECTION-B
: (4x12=48)
Answer any FOUR of the following

8. Define the following accounting concepts and explain for each their implications for
the preparation of financial statements:

(a) The entity concept

(b) Going concern

(c) Materiality

(d) Faithful representation

9. On 1 January 2018 the fair value of X's leasehold property was $150,000 with a

remaining life of 20 years. The company's policy is to revalue its property at each
year end. At 31 December 2018 the property was valued at $129,000. The balance
on the revaluation surplus at 1 January 2018 was $30,000 which relates entirely to
the leasehold property.
X does not make a transfer to realised profit in respect of excess depreciation.
Required:
(a) Prepare extracts of X's financial statements for the year ended 31 December
2018 reflecting the above information.
(b) State how the accounting would be different if the opening revaluation surplus
did not exist.
10. Jobit enters into an agreement to lease an asset. The terms of the lease are as
follows.
(a) Primary period is for four years from 1 January 2014 with a rental of $2,500 pa
payable on 31 December each year.
(b) The present value of the lease payments is $6,700
(c) The interest rate implicit in the lease is 15%.
What figures will be shown in the financial statements for the year ended
31 December 20147
11. An entity based in the US sells goods to overseas for Kr 300,000 on 25 February
2014 when the exchange rate was Kr 0.60:$1.
The customer pays in May 2014 when the rate was Kr 0.65:$1.
The exchange rate at the year ended 30 June 2014 was Kr 0.70:$1.
Required:
(a) Prepare the journal entries to record the sale of the goods by the US entity.
(b) Show the journal entries to record the payment in May 2014,
Contd...3
|
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(c) If the amount was outstanding at the year end, what would the gain or loss in
the statement of profit or loss be?

12. Calculate basic EPS to be presented in the financial statements for the year ended
31 December 2018 (including comparative figure).

A company issued one new share for every two existing shares held by way of
rights at $2.00 per share on 1 August 2018. Pre-issue market price was $3.50 per
share. ST.ALOYSIUS COLLEGE LIBRARY

Relevant information: MANGALCORE-575003

2018 2017
Profit attributable to the ordinary shareholders
for the year ending 31 December $350,000 $260,000
Number of ordinary shares in issue at
31 December 1,000,000 600,000

13. Given below are the statements of profit or loss for Paris and its subsidiary London

for the year ended 31 December 2015.

Paris London

$000 $000
Revenue 3,200 2,560
Cost of sales (2,200) (1,480)
Gross profit 1,000 1,080
Distribution costs (160) (120)
Administrative expenses 400 _(80)
Profit from operations 440 880
Investment income 160 _—

600 880

Profit before tax
Taxation {(400)
Profit for the year __ 200

Additional information:
(i) Paris paid $1.5 million on 31 December 2011 for 80% of London’s 800,000

ordinary shares.

(i) Goodwill impairments at 1 January 2015 amounted to $152,000. A further
impairment of $40,000 was found to be necessary at the year-end.
Impairments are included within administrative expenses.

(ili) Paris made sales to London at a selling price of $600,000 during the year, Not
all of the goods had been sold externally by the year-end. The profit element
included in London’s closing inventory was $30,000.

(iv) Additional fair value depreciation for the current year amounted to $10,000. All

depreciation should be charged to cost of sales.
Contd...4

Scanned with CamScanner

C: Y



pPage No, 4
G 301.3a

00,000-

: f$2
(v) London paid an interim dividend during the year © ¥ e method.

(vi) Paris values the non-controlling interest using the faif
Required: car ended 31 Decempg,
Prepare a consolidated statement of profit or loss for the y
2015 for the Paris group.
SECTION-C (2x16=3;,
Answer any TWO of the following it operated by as

14. The Pure group operates in the farming industry an rements for the last tg

jal sta
100% owned subsidiaries for many years. Its financial st
years are shown below. U - .
Consolidated statements of profit or loss for the year en

2013 2012
$000 $000
Revenue 94,000 68,500
Cost of Sales 46,000 28,000
Gross profit 48,000 40,500
Distribution costs (21,200)  (19,300)
Administrative expenses 25,600 15,400
Profit from operations 1,200 5,800
Investment income - 600
Finance costs (120) =
Profit before tax 1,080 6,400
Taxation (300) (1,920)
______________ R
Profit for the year 780 4,480 (
Attributable to: (I
Shareholders of Pure 1,580 4,480
Non-controlling interest (800) w
______________ 5.¢
— 780 4,480
Consolidated statements of financial position oty
(extracts) as g er
s )201; 30 Septemb
000
Current Assets: ‘ $000
Inventories
6,5
Trade receivables 17 Ogg 4,570
Bank 610 15,600
Equity: 6,000
Share capital 25
Retained earnings 73'ggg 6,000
Non-controlling interest '510 72,500
Non-current liabilities =
Loan 20,000
.._-nld"j
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The following information is relevant:

(i) Pure has become increasingly worries about two major areas in its business
environment. Firstly, there are concerns that reliance on large supermarkets is
putting pressure on cash flow, as the supermarkets demand long payment
terms. Secondly, the consistent increases in fuel prices mean that delivering the
produce nationally is becoming extremely expensive.

(i) To manage this, Pure acquired 80% of Howard on 1 October 2012. This was the
first time Pure had acquired a subsidiary without owning 100% of it. Howard
operates two luxury hotels, and Pure acquired Howard with a view to
diversification and to provide a long-term solution to the cash flow concerns.

(i) The Pure group raised finance for the acquisition from a number of sources.
Part of this came from the disposal of $11 million held in investments, making
a $4.5 million gain on disposal, which is included within administrative
expenses.

(iv) Howard opened a third hotel in March 2013, its largest yet. After poor initial
reviews, Howard appointed a new marketing director in May 2013. Following an
extensive marketing campaign, online feedback had improved significantly.

(v) The following ratios have been calculated for the year ended 30

ecimniadaen ST.ALOTSIUS COLLEGE LIBRARY
MANGALO RE-575003

Gross profit margin 59.1%

Operating margin 8.5%

Return on capital employed 7.4%

Inventory turnover period 60 days

Receivables collection period 83 days
Required:

(a) For the ratios provided above, prepare the equivalent figures for the year ended
30 September 2013.

(b) Analyze the performance and cash flow of Pure for the year ended 30
September 2013, making specific reference to any concerns or expectations
regarding future periods.

15. On 30 June 2013, Hat acquired 60% of the ordinary share capital and 20% of
the loan notes of Shoe for $95,000 and $8,000 respectively. At that date Shoe
had a retained earnings balance of $50,000 and a share premium account

balance of $9,000.

The following statements of financial position have been prepared as at 30 June
2017:

Contd...6
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Hat Shoe
$ $
Assets:
Non-current assets:
Tangible assets 227,000 170,000
Investments: Shares in group undertaking 103,000 e
330,000 170,000
Current assets 270,000 186,000
600,000 356,000

Equity and liabilities:
Capital and reserves

Ordinary shares of $1 each 200,000 90,000
Share premium account 25,000 9,000
Retained earnings 150,000 80,000

375,000 179,000
Loan notes - 40,000
Current liabilities 225,000 137,000

600,000 356,000

(i) During the year to 30 June 2017 Hat transferred a tangible asset to Shee for
$50,000. The asset originally cost $100,000 three years ago (in the year to 30
June 2014) and had a useful economic life of five years.

(ii) Shoe’s depreciation policy is 25% per year based on cost. Both companies

charge a full year's depreciation in the year of acquisition and none in the year
of disposal.
(i) Non-controlling interest is valued at fair value on acquisition. For this purpose,
a share price for Shoe of $1.75 each lls representative of the fair value of the

shares held by the non-controlling interest, The value of goodwill at the 30 June
2017 is $7,520.

Required:
Prepare the consolidated statement of financial position of Hat and its subsidiary as
at 30 June 2017,

16. The following information has been extracted from the books of Picklette for the
year to 31 March 2018.

Dr Cr
$000 $000
Administrative expenses 170
Interest paid 5
Called up share capital
(Ordinary shares of $1 each) 200
Dividend 6

Cash at bank and in hand

Contd...7
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Income tax
(Remaining balance from previous year) 10
Warranty provision 90
Distribution costs 240
Land and buildings:

at cost (Land $110,000,

Buildings $100,000) 210

accumulated depreciation (at 1 April 2017) 48
Plant and machinery:

at cost 125
accumulated depreciation (at 1 April 2017) 75
Retained earnings (at 1 April 2017) 270
10% Loan (issued in 2016) 80
Purchases 470
Sales 1,300
Inventory (at 1 April 2017) 150
Trade payables 60
Trade receivables 728 B}
2,123 2,123

Additional information:
(a) Inventory at 31 March 2018 was valued at $250,000.
(b) Buildings and plant and machinery are depreciated on a straight-line basis
(assuming no residual value) at the following rates:
On cost: Buildings 5% ST.ALOYSIUS COLLEGE LIBRARY
Plant and machinery 20% MANGALORE-575003
(c) There were no purchases or sales of non-current assets during the year to 31
March 2018.
(d) The depreciation charges for the year to 31 March 2018 are to be apportioned
as follows:
Cost of sales 60%
Distribution costs 20%
Administrative expenses 20%
(e) Income taxes for the year to 31 March 2018 are estimated to be $135,000.
(f) The 10% loan was issued in 2018 and Is repayable in five years,
(g) The year end provision for warranty claims has been estimated at $75,000.
Warranty costs are charged to administrative expenses.
Required:
Prepare Picklette plc's statement of profit or loss for the year to 31 March 2018
and a statement of financial position as at that date.

Contd...8
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SECTION-D (Hx1L0=10)
Answer the following: (Compulsory)

; ; arries 2 marks)
17. The following scenario relates to questions i-v (each question ¢ i
On 1 October 2014, Popper purchased 70% of the share capital o PP t- ,
a cost o
Popper agreed to pay $6 million on 30 September 2016. Popper has
capital of 8%.
h 2015
Extracts from the statements of profit or loss for the year ended 31 Marc
for both Popper and Stopper are shown below.

Popper Stopper

$000 $000
Cost of sales (319,200) (176,400)
Operating expenses (50,610) (33,120)

The following notes are relevant:

(a) Since acquisition, Popper sold goods to Stopper totalling $1 million per month,
making a margin of 20%. At the year end, Stopper held 30% of these goods.

(b) On acquisition, Stopper’s net assets were equal to their carrying amount, with
the exception of Stopper’s head office, which had a fair value of $4 million in
excess of its carrying amount and a remaining life at acquisition of 20 years. All
depreciation is charged to operating expenses,

(c) At 31 March 2015, goodwill is impaired by $600,000. Goodwill impairment is
included within operating expenses. Popper measures the non-controlling
interest using the fair value method.

i) What liability (to the nearest thousand) should be recorded in respect of the
deferred consideration in Popper's consolidated statement of financial position as
at 31 March 20157

A. $5,144,000 B. $5,350,000 * cC. $5,556,000 D. $6,000,000
i) What is the cost of sales figure to be included in the consolidated statement of

profit or loss for the year ended 31 March 2015?

A. $402,600,000 B. $401,760,000 C. $395,760,000 D. $396,400,000

ili) What is the operating expenses figure to be included in the consolidated

statement of profit or loss for the year ended 31 March 20157

A. $67,970,000 B. $67,670,000 C. $67,570,000 D, $67,870,000

iv) Which of the items in the scenario would affect the profit attributable to the non-
controlling interest?

A. Notes (i) and (ii) only

B. Notes (i) and (iii) only
C. Notes (ii) and (iii) only

D. Notes (i), (ii) and (iii)

v) Which, if any, of the following statements about fair values is/are correct?
Statement 1: Popper must include all of Stopper’s assets, liabilities and
contingent liabilities at fair value in the consolidated financial statements.
Statement 2: Professional fees associated with the acquisition of Stopper can be

included within the goodwill because the non-controlling interest s measured at

i ue.
fair val KA A oK oK oK ok
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St Aloysius College (Autonomous)

Mangaluru
B.Com. Semester III- Degree Examination
October- 2019
PRINCIPLES OF MARKETING

Time: 3 hrs. Max Marks: 100

SECTION-A
Answer any FIVE of the following. (5x2=10)
What is the selling concept in marketing?

What is market segmentation?

What is width of product mix?

What is penetration pricing?

What is emotional appeal in advertising?

What are channels of distribution? 9T, ATATSIUS COLLEGE LIBRARY
MAMGALORE-575083

e R L A -

What is direct marketing?

SECTION-B
Answer any FOUR of the following. (4x12=48)
8. Define marketing. Explain the significance of marketing.

9. Explain the basis of market segmentation for consumer products.
10. What is a new product? Explain the various stages in planning and
development of a new product.
11. Explain the various factors affecting pricing decision.
12. a) Whatis an advertisement copy? Explain any five essentials of a good
advertisement copy. (6)
b) What is salesmanship? Explain any five essential qualities of a good
salesman. (6)
13. Explain the various factors affecting the channels of distribution.

SECTION-C

Answer any TWO of the following. (2x16=32)
14. Explain the various factors influencing consumer buying decision process.

15. Explain the various stages in the life cycle of a product along with the

marketing strategies to be adopted in each stage.

16. What is pricing? Explain the various pricing policies and strategies.
Contd..2
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SECTION-D

Answer the following: (10)
17. Lux soap was launched in India in 1929. From the very first advertisement in
1929 featuring Leela Chitnis, the gorgeous faces of the silver screen have come
out in the open with their beauty secret- Lux. Lux has been an intimate
partner with the brightest stars on the silver screen in India. Top movie stars
such as Madhubala, Hema Malini, Rekha, Juhi Chawla, Sridevi, Madhuri Dixit,
Karishma Kapoor, Aishwarya Rai, Kareena Kapoor, Deepika Padukone and
many more have endorsed the goodness of Lux over generations. It is
popularly known as ‘the beauty soap of film stars’. From the beginning, Lux, by
using a leading film star of the time, has fulfilled the consumer’s aspirations of
using beauty soap via the rationale, if it’s good enough for a film star, it'’s good
for me’. Lux has been a favourite with generations of users for the experience

of sensuous and luxurious bathing,

Since its launch in India, Lux has offered a wide range of soaps in different
colours and fragrances. Lux has beauty offerings in two market segments-
popular and premium. In the popular segment, it has offered its customers a
wide range of soaps enriched with a variety of nourishing ingredients such as
rose extracts, almond oil, milk cream, sandal, saffron, fruit extracts which are
known to harbor the secrets of perfect skin. In the premium segment, it has
offered its customers specialized skincare in the form of Lux International
which is a range of moisturizing, deep cleansing and sunscreen soaps. Keeping
in tune to the changing times, it has also launched Lux Bodywash which offers
superior bathing benefits. Another key initiative that has fueled its growth in
India has been the launch of Mini Lux , priced at Rs.5/- to bring it within the

reach of rural consumers. Thus, Lux continues to dazzle and captivate millions

of consumers in India.

Questions:
a) Discuss the promotion strategy used by Lux in India. (5)
b) Discuss the market segmentation strategy used by Lux in India. (5)

Aok ok ok kK
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St Aloysius College (Autonomous)
Mangaluru

B.Com. Semester III - Degree Examination
October - 2019
INCOME TAX - |

Time: 3 Hours Max. Marks: 100
SECTION-A
Answer any EIVE of the following. g1 3107SIUS COLLEGE LIBRARY  (5x2=10)
1. Define the term “Assessee”, MANGALURE-575003 '

2. Income tax is charged on the income of the previous year. Do you agree fully with the
statement? If not, what are the exceptions?

State the conditions to determine the residential status of a company.

State any four tax free perquisites,

How an individual can become non-resident for income tax purposes?

State the limits of exemption of commuted pension.

NS w s W

Mention the conditions of Rule 4 for allowing deduction for unrealized rent.
SECTION - B
Answer any FOUR of the following. (4x12=48)
8. What are provident funds? How are they treated for income tax purposes?

9. Mr Damodara earns the following incomes during the financial year 2018-19:
a)  Profits earned from business in Paris which is controlled from India, ; of the profits
being received in India ¥ 1,60,000.
b) Pension from former employer in India, received in USA ¥ 30,000.
¢) Income from agriculture in Pakistan and brought to India ¥ 40,000,
d) Income from property in UK and received there ¥ 30,000.
¢) Past untaxed foreign income brought into India during the previous year ¥ 45,000.
f)  Gift received from a friend in India ¥ 85,000.
Income from house property in Singapore ¥ 80,000 (50% received in India).
h) Income from agriculture in Tamil Nadu ¥ 40,000 and in Srilanka ¥30,000.
i) Dividends from domestic companies ¥ 15,000 and from foreign companies

T 10,000.
i) Income from Interest on German Government Bonds ¥ 1,20,000. (X 50,000 received

in India).

Determine the taxable income of Mr Damodara for the Assessment Year 2019-20.

if he is: B
i) OR ii) NOR and iii) NR

Contd...2
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10. Mr Sathish retired from scrvice on Ist February 2019 after serving for 27 yeqrg o, o
months. He received a gratuity of ¥3,80,000 (not covered by Payment of Gratuity, "

His basic as on 01.01.2018 was ¥ 13,500 and the increment of $ SU'D fell due on l‘.‘

October. He received HRA at ¥ 4,000 per month, whereas the rent paid by him g, the

house was 5,000 per month, D.A. was fixed at ¥ 2,500 per month, 50% Of Whig

enters into retirement benefits. He commuted 3% of his pension and received
T 1,50,000.

Compute taxable gratuity, taxable commuted pension, taxable house rent al]nwancc.

11 a) Pradeep left India for the first time on 5.3.2016 after having lived here for 7

years. He returned to India on 10.09.2018. Find out his residential statys o, the

assessment year 2019-20 explaining Basic and Additional conditions.
b)  What is annual value? How do you determine annual value of let out Property?
What are the deductions permissible from the annual value?
12. Shri Kantharaj is employed in a factory in Mumbai. He is in the grade of ¥ 25,000.
2,000-35,000 since 1* January 2017. He is paid 20% of salary as D.A. and ¥ 5,009 per
month as house rent allowance. He stays in a rental flat paying a rent of ¥ 8,000 per
month. He contributes 12.5% of his salary and D.A. 10 RPF towards which tp,
employer contributes an equal amount. He has been given a small car which is used by
him for his personal purposes also. The driver's salary and all expenses relating to the
car are incurred by the employer. He has the amenity of free electricity and water from
factory. The cost of which amounted to ¥ 4,000 and ¥ 2,000 respectively. He has been
provided the gas and telephone, the bills ¥ 1,200 and ¥ 2,000 respectively have been
paid by the employer.

Compute his income from salary for the assessment Year 2019-20. Assume that salary is
payable on the last date of each month.

13. Mr Arjun owns a residential house property. It has two identical units — Unit I and

Unit II. While Unit [ is self occupied by Arjun and his family members, Unit IT is let out
(rent being X 7,000 per month, this unit remained vacant for one month during which it
was self’ occupied). Municipal value of the property is 1,25,000, standard rent is
¥ 1,35,000 and fair rent is ¥ 1,50,000. Municipal tax is imposed at 12% on municipa
value which is paid by Arjun. He borrowed ¥ 8,00,000 on 01-07-2014 from a bank
12% per annum to construct the property. Construction of the house was completed of
June 30, 2016. The entire loan is still unpaid,
Compute his income from house property for the assessment year 2019-20.

SECTION - C

Answer any TWO of the following, ) x16=37)

14, a) State the conditions for assessment of income under the head income from sala"

b) Explain allowances taxable under the head income from salary.

contd:?
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15. Mr. Chandrashekar is the Principal of a college in Bangalore. He furnishes the
following details, Compute his taxable salary for the Assessment Year 2019-20.
e Basic salary T 60,000 per month
e DA % 15,000 per month (considered for retirement benefit)
e He contributes 12% of his salary to RPF and an equal amount contributed by his
employer.
¢ Education allowance for three children ¥ 6,000 for the ycar.
e Maedical allowance T 8,000 for the ycar, actual amount spent T 3,000.
e Sweeper, servant, watchman at a salary of X 3000 per month per person
appointed by Mr. Chandrashekar and their salary paid by employer.
e LIC premium paid by the employer on the life of Mr. Chandrashekar 5,000.
e Professional tax paid by the assessce ¥ 2,000.
e He has been provided with rent free house by the college whose fair rent is
% 20,000 per month and furniture facility of ¥ 2,00,000 by the employer.
e Free lunch worth € 90 per meal is provided to him through out the year.
(Assume 280 working days).
e He attended refresher course and training, the cost of which borne by the

college amounted to X 20,000. ST.ALBTSIUS COLLEGE LIRRARY
MANGALCRE-575003

16. Mr. Jayaraj furnished the following details, compute his income from house property

for the assessment year 2019-20.
House at Mysore — AMV X 1,20,000, municipal tax paid amounted to 10% of

municipal value. House is used for his residence. Interest on loan ¥ 28,000.
House at Bangalore — Annual rent ¥ 1,80,000 municipal taxes paid ¥ 16,000 (1 0% of
municipal value) . Interest on money borrowed for construction X 48,000.

House at Hassan — AMV ¥ 90,000. It is letout for ¥ 8,000 per month. 13 portion of

this house is self occupied by him for his residence. Rent received is for the remaining
%— portion. Municipal taxes paid 10% of municipal value.

House at Mangaluru — Actual rent received T 6,000 per month. Total municipal tax
paid X 6,500 (10% of municipal value). Interest on loan borrowed for construction
T 25,000. House remained vacant for one month. Unrealized rent of 2 months
% 12,000. Conditions of Rule 4 are satisfied.

SECTION - D

Answer the following. (1x10=10)

17. Kapil retired on 1-10-2018 and received % 9,56,000 as carned leave encashment. He

had to his credit 8 month
65,000 per month, D-A. % 15,000 per month. Annual increment of ¥ 3,000 falls due on

d part of basic salary for retirement benefits.

s approved earncd leave. His last drawn emoluments: Basic

June 1% every year. D.A. is treate
Compute the taxable portion of leave encashed.

*kkkxXKRFXE
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St Aloysius College (Autonomous)

Mangaluru

B.Com. Semester 111~ Degree Examination
October-2019
COST ACCOUNTING - I
Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. Define Cost Accounting.
2. What is Over Absorption?

Explain any two reasons for the difference in Cost Accounting and Financial
Accounting profits.

What is Idle time? How s it treated in costing?

5. Medical Aids Co. manufactured a special product. The following particulars
were collected for the year 2014. Cost of placing an order ¥60. Annual
carrying cost per unit 10% of the inventory. Annual usage 6000 units. Cost
of materials per unit 260. Find the Economic Ordering Quantity.

6. State any four objectives of Cost Accounting. ST.ALOTSIUS COLLEGE LIBRARY

7. What are Semi-Variable Costs? Glve example. MANGALORE-575003

SECTION - B
Answer any FOUR of the following. (4x12=48)

8. Explain cost unit and cost centre with examples and explain advantages of
cost accounting.

9. What is labour turnover? Explain the cause and effects.

10. From the following transactions, prepare Stores Ledger Account, pricing the
issues at Weighted Average Price System.

2016
March
1 Opening balance 100 units at 10 per unit.
2 Issued 25 units to Department A,
7 Recelved 425 units at ¥11 per unit,
10 Issued 200 units to Department B.
12 Returned to stores 10 units from Department A.
15 Returned to supplier 20 units out of the quantity received on
th
17 ;e.ce!ved 110 units at ¥12.50 per unit.
25 Received 100 units at ¥10 per unit.
29 Issued 200 units to Department B.
30 Received 100 units at ¥11 per unit.

Note: Average cost to be calculated to two decimal places of a rupee.
Contd.,.2
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Information relating to 3 materials is available.
A B Cc
ROQ (units) 10,000 | 5,000 | 1,000
Minimum Delivery period (weeks) 1 3 2|
Average Delivery period (weeks) 2 4 3

Calculate Minimum level of A, Maximum lever of B, Recorder level of C and
Average Stock Level of A, The weekly usage of these materials vary from 175
units to 225 units.

A worker's basic usage is 3300 per day of 8 hours. His time sheet for a week
is summarized below.

Job No. | Time allowed | Time taken

1 25 hours 20 hours

2 30 hours 20 hours

Idle time is 8 hours. DA is ¥108 per week of 48 hours. Calculate the
Gross Wage he has earned for the week under Halsey’s and Rowan'’s plan.

13. From the following particulars prepare Reconciliation Statement.

14.

2 1
Net profit as per financial books 63,780
Net profit as per cost books 66,760
Factory overheads under recovered in cost books 5,700
Administration overheads recovered in excess 4,250
Depreciation charged in financial books 3,660
Depreciation recovered in costing 3,950
Interest received but not included in cost books 450
Income tax provided 600
Bank interest credited in financial books 230
Stores adjustment (credited in financial books) 420
Depreciation of stock charged in financial books 860
Appropriation of dividend 1,200
Loss due to theft provided in financial books 260

SECTION - C

Answer any TWO of the following. (2x16=32)

The following particulars are obtained from the books of Advik Ltd. for th
year ended 31-12-2018.

contd.3
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Z
Purchase of materials 42,500
Productive wages 32,500
Unproductive wages 3,000
Motive power 2,000
Tfmse tools written off 250
Chargeable expenses 2,500
Carriage inwards 650
Reserve for bad debts 1600
Bad debts 500
Telephone charges 200
Works stationery 750
Material sold as scrap 350
Sale of scrap factory 150
Loss by fire (material) 1,800
Carriage outwards 100
Debt collection charges 230
Office expenses 4,800
Showroom rent A AMGALORE-575003 » 400
Welfare services 1,000
Haulage 325
Water supply 125
Estimating expenses 625
Rectification cost of defectives 75
Samples and free gifts 550
Upkeep of delivery van 400
Commission on sales 625
Warehouse rent 445
Stock On 1-1-2018 | On 31-12-2018
5,500 1,500
Material (%)
W.I.P (%) 7,500 5,500
Finished goods (value) 27,000 f
Finished goods (units) 1,500 500

6,000 units are sold at ¥40 per unit.
components of cost per unit and the profits.

Prepare a cost statement showing

Contd...4
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ABC Ltd. has three production and two service departments. The following

figures are available for the period:

2

ant and rates 10,000
Lighting charges 1,200
Indirect wages 3l000
Power 31000
Depreciation of machiner ( ;

y 120,000

L Sundry expenses 20,000 |

The following further details are also available.

Production Depts.

Service Depts.

X Y pa A B
Area occuplied (Sq. ft.) 2000 2500 3000 | 2000 | 500
nght points 20 30 40 20 10
Direct wages 6000 4000 6000 3000 | 1000
H.P. of machines 120 60 100 20 -
Cost of Machines (%) 24000 | 32000 | 40000 | 2000 | 2000
Working hours 4670 3020 3050 = =

The expenses of service departments A and B are re-apportioned to other
departments in the following percentages under Repeated Distribution

Method.
Depts. X X Z A B
A 20% 30% 40% - 10%
B 40% 20% 30% 10% -

Calculate overhead Absorption rate in respect of each production department.

The profits as per financial books for the year ended 31-12-2018 is

¥2,98,000. Following details are ascertained on comparison of cost and
financial accounts.
Item Cost A/c | Financial A/c
g g
Stock on 1-1-2018:
Raw materials 1,00,000 1,20,000
Work-in-proaress 1,30,000 1,40,000
Finished goods 90,000 1,00,000
Stock on 31-12-2018
Raw materials 86,000 80,000
Work-in-progress 74,000 60,000
Finished goods 1,24,000 1,18,000
Direct expenses 60,000
Purchases 8,00,000
Waages 4,00,000
| Factory expenses 4,00,000 4,00,000
'Sales 22,00,000
Interest received 32,000
Office expenses 46,000 60,000
Income tax 15,000
Loss on sale of 17,000
investments
Selling expenses 90,000 80,000

Frepa
Statement as on 31-

re a cost sheet showing costing profit and also draw up a Reconciliation
12-2018.

Contd...5
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Answer the following:

SECTION - D

Compulsory

Page No.5

(10)

From the following particulars pertaining of material “VX”, Prepare a Stores
Ledger Card using FIFO method of pricing out issues,

2017, February 1 Opening balance 600 units at 240 per unit.

L Receipts

Date Qty (units) Rate (3) GRN No.
February 10 400 38 446
February 20 480 44 447
February 25 200 28 249
February 27 225 51 451

Issues

Date Qty (units) MRN No. Dept.
February 6 500 617 it
February 16 130 620 B
February 26 360 716 Y
February 29 217 728 X

Additional Information:

ST.ALOYSIUS COLLEGE LIRRARY
MANGALORE-575003

February 14 - Received back from A 30 units
February 18 - Shortage of 20 units as per stock verification,

*
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St Aloysius College (Autonomous)
Mangaluru
B.Com. (ACCA) Semester I1I- Degree Examination
October 2019
PERFORMANCE MANAGEMENT
Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1l

A company which makes two products, Alpha and Zeta, uses activity-based
costing to absorb its overheads. It has recently identified a new overhead

cost pool for inspection costs and has decided that the cost driver is the
number of inspections.

The following information has been provided:
Total inspection costs $250,000

Alpha Zeta
Production volume (units) 2,500 8,000
Machine hours per unit 1 1.5
Units per batch 500 1,000
Inspections per batch 4 1
What is the inspection cost per unit for product Alpha?
A. $23.81 B. $17.24 C. $71.43 D. $80.00

The selling price of product Zigma Is set to be $250 for each unit and sales
for the coming year are expected to be 500 units. If the company requires a
return of 15% in the coming year on its investment of $250,000 in product
Zigma, the target cost for each unit for the coming year is

A. $145 B, $155 C. $165 D. $175

3. The following statements have been made about the issues faced by
businesses in the management of their environmental costs:
(1) The costs involved are difficult to define.
(2) Environmental costs can be categorised as quality related costs.
(3) Cost control can be an issue, in particular if costs have been
identified incorrectly in the first place. ST.ALOYSIUS COLLEGE LIBRARY
Which of the above statements is/are true? MANGALORE-575003
A. (1) only B. (2) and (3) only C. None of them D. All of them

4. 1In order to utilise some spare capacity, K Is preparing a quotation for a
special order which requires 2,000 kgs of material J.
K has 800 kgs of material J in inventory (original cost $7.00 per kg).
Material ] is used in the company’s main product L. Each unit of L uses 5
kgs of material J and, based on an input value of $7.00 per kg of 1, each
unit of L yields a contribution of $10.00.
The resale value of material J is $5.50 per kg. The present replacement
price of material ] is $8.00 per kg. Material ) is readily available In the

market.

What is the relevant cost of the 2,000 kgs of material J to be included in the

quotation?

A. $11,000 B. $14,000 C. $16,000 D. $18,000
Contd...2

Scanned with CamScanner



N

G 304.33

Page No, 3
5.

d by asking ;
Betls Limited is considering changing the way It Is Stru:rt?er:tw :ald ang -
employed staff to become freelance. Employees are Cid 4200 per WQr*:'ed
salary of $240,000 per annum, but would instead be pa ing

' her fixe
day. On a typical working day, staff can produce 40 units. Ot d costs
are $400,000 pa.

r unit.
The selling price of a unit is $60 and material costs are $20 pe

i he busi
What will be the effect of the change on the breakeven point of the business
and the level of operating risk?

A. The breakeven

point reduces by 6,000 units and the operating risk goes
down

B. The breakey

# en point reduces by 4,571 units and the operating risk goes
own

C. The breakeven point reduces by 4,571 units and the operating risk goes up
D. The breakeven point reduces by 6,000 units and the operating risk goes up

A product has a prime cost of $12, variable overheads of $3 per unit and fixed
Overheads of ¢6 per unit,

Which pricing policy gives the highest price?
A, Prime cost + 80%

B. Marginal cost + 60%
C. TAC + 20%

D. Net margin of 14% on selling price

7. HH plc monitors the % of total sales that derives from products developed in

the last year. Which part of the balanced scorecard would this measure be
classified under?

A. Financial perspective B. Customer perspective

C. Internal perspective D. Learning perspective

SECTION - B

Answer any FOUR of the following. (4x12=48)

Advent Company has a maximum capacity of 220,000 units per year. Normal
capacity is 180,000 units per year. Variable manufacturing costs are $ 11 per
unit. Fixed factory overhead is $ 540,000 per year. Vari

able selling costs are
$ 3 per unit, while fixed selling costs are $ 252,000 Per year. Sale price is $ 20
per unit.

Required:
A. What is the break-even point expressed in rupee sale?

B. What will be the Sales unit to earn a target net profit of ¢ 42,000 after
income tax, assuming income tax rate to be 30%7?

C. How many units must be sold to earn a net income of 10% on sales?

D. What should be the selling price per unit if breakeven point is to be brought
down to 100,000 units?

Contd...3
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HSImanufactures components for use in computers. The business operates in
a highlly competitive market where there are a large number of manufacturers
of similar components. Hs is considering its pricing strategy for the next 12
weeks for one of its components. The Managing Director seeks your advice to
determine the selling price that will maximise the profit to be made during this
period.

You have been given the following data:

Market demand:

The current selling price of the component is $1,350 and at this price the
average weekly demand over the last four weeks has been 8,000 components.
An analysis of the market shows that, for every $50 increase in selling price,
the demand reduces by 1,000 components per week. Equally, for every $50

reduction in selling price, the demand increases by 1,000 components per
week,

Costs :

The direct material cost of each component is $270. This price is part of a

fixed price contract with the material suppliers and the contract does not
expire for another year.

Production labour and conversion costs, together with other overhead costs

and the corresponding output volumes, have been collected for the last four
weeks and they are as follows:

Week Output volume (units) $000
1 9,400 7,000
2 7,600 5,688
3 8,500 6,334
4 7,300 5,446
No significant changes in cost behaviour are expected over the next 12 weeks.
Required:

Calculate the optimum (profit-maximising) selling price of the component for
the period.

10. Chapel Ltd manufactures a chemical protective called Rustnot. The following
standard costs apply for the production of 100 cylinders:

Materials 500 kgs @ $0.80 per kg 400 ST.ﬂ:;sg‘ig}%ﬁggsl!%%ﬂﬂf
Labour 20 hours @ $1.50 per hour 30 ’ A
Fixed overheads 20 hours @ $1.00 per hour 20

450

The monthly production/sales budget is 10,000 cylinders.
Selling price = $6 per cylinder.

For the month of November the following production and sales
information is available:

Produced/sold 10,600 cylinders

Sales value $63,000

Materials purchased and used 53,200 kgs $42,500

Labour 2,040 hours $3,100

Fixed overheads $2,200
Required:

You are required to prepare an operating statement in a marginal
costing format for November detailing all the variances,

Contd...4
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11.

12.

i3.

14.

The Information Systems strategy within the MG organisation has been
developed over a number of years. However, the basic approach has always
remained unchanged. An IT budget is agreed by the board each year. The
budget is normally 5% to 10% higher than the previous year's to allow for
increases in prices and Upgrades to computer systems.

Systems are upgraded in accordance with user requirements. Most users see
IT systems as tools for recording day-to-day transactions and providing access
to accounting and other information as necessary. There is no Enterprise
Resource Planning System (ERPS) or Executive Information System (EIS).
The board tends to rely on reports from junior managers to control the
business. While these reports generally provide the information requested by
the board, they are focused at a tactical level and do not contribute to
strategy formulation or implementation

Required:

Advise the board on how an ERPS and EIS could provide benefits over and
above those provided by transaction processing systems.

Define transfer pricing. What are the objectives of transfer pricing system?
Discuss two main methods of setting the transfer price.

company manufactures a chemical using two components, A and B. The
standard information for one unit of the chemical are as follows:

$
Material A 10 kg at $4 per kg 40
Material B 20 kg at $6 per kg 120
160

In a particular period, 160 units of the chemical were produced, using 1,000
kgs of material A and 1,460 kgs of material B.
Required:

Calculate the material usage, mix and yield variances for each material.

SECTION - C

Answer any TWO of the following. (2x16=32)

Abkaber plc assembles three types of motorcycle at the same factory: the
50cc Sunshine; the 250cc Roadster and the 1000cc Fireball. It sells the
motorcycles throughout the world. In response to market pressures Abkaber
plc has invested heavily in new manufacturing technology in recent years and,
as a result, has significantly reduced the size of its workforce,

Historically, the company has allocated all overhead costs
labour hours, but is now considering introducing Activit
Abkaber plc’s accountant has produced the following an

using total direct
y Based Costing (ABC)-
alysis,

Contd...5
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Annual output

(units)
Sunshine 2,000

Roadster 1,600
Fireball 400

Annual direct Selling price  Raw material cost

labour hours ($ per unit) ($ per unit)

200,000 4,000 4ae

220,000 6,000 600
80,000 8,000 ——

The three cost drivers that generate overheads are:

 Deliveries to retailers - the number of deliveries of motorcycles to retail
showrooms.

Set-ups - the number of times the assembly line process is re-set to

accommodate a production run of a different type of motorcycle.

Purchase orders - the number of purchase orders.

The annual cost driver volumes relating to each activity and for each type of
motorcycle are as follows:

L ]

Number of deliveries ~ Number of set-ups Number of purchase
to retallers orders

Sunshine 100 35 400
Roadster 80 40 300
Fireball 70 25 100
The annual overhead costs relating to these activities are as follows:
$
Deliveries to retailers 2,400,000  §T.ATAFSIUS COLLEGE LIBRARY
Set-up costs 6,000,000 MANGALORE-575003
Purchase orders 3,600,060
All direct labour is paid at $5 per hour. The company holds no inventories.
At a board meeting there was some concern over the introduction of activity based
costing.
The finance director argued: 'I very much doubt whether selling the Fireball is
viable but I am not convinced that activity based costing would tell us any more
than the use of labour hours in assessing the viability of each product.’
The marketing director argued: ‘I am in the process of negotiating a major new
contract with a motorcycle rental company for the Sunshine model. For such a big
order they will not pay our normal prices but we need to at least cover our
incremental costs. I am not convinced that activity based costing would achieve this
as it merely averages costs for our entire production’.
The managing director argued: ‘1 believe that activity based costing would be an
improvement but it still has its problems. For instance if we carry out an activity
many times surely we get better at it and costs fall rather than remain constant.
Similarly, some costs are fixed and do not vary either with labour hours or any
other cost driver.’
The chairman argued: ‘I cannot see the problem. The overall profit for the company
is the same no matter which method of allocating overheads we use. It seems to
make no difference to me.’
Required:
(a) Calculate the total profit on each of Abkaber plc’s three types of product using
the following method to attribute overheads:
(i) Activity based costing. (12 marks)

(b) Explain the implications of activity based costing for Abkaber plc, and is so
doing evaluate the issues raised by each of the directors. (4 marks)

Contd...6
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15. Justin Thyme manufactures four products, A, B, C and D. Details of sales priceg,

16.

costs and resource requirements for each of the products are as rallaves;

Product Product Product Produc

A(3) B(%) C (%) D(s)
Sales price 1.40 0.80 1.20 2.80
Materials cost 0.60 0.30 0.60 1.00
Direct labour cost 0.40 0.20 0.40 1.00
Machine time per unit (Minutes) 5 2 3 6
Labour time per unit (Minutes) 2 1 2 5
Weekly sales demand (Units) 2,000 2,000 2,500 1,500

Machine time is a bottleneck resource and the maximum capacity is 400 machine
hours each week. Operating costs, including direct labour costs, are $5,440 each

week. Direct labour costs are $12 per hour, and direct labour workers are pajg
for a 38-hour week, with no overtime.

Required:

Determine the quantities of each product that should be manufactured
and sold each week to maximise profit and calculate the weekly profit.

CAF Ltd produces a single large item of confectionary, Product S, that is sold for

$12 per unit. You have been provided with the following information about the
'S’ for the forthcoming year:

Sales 6,000 units
Variable costs $7 per unit

CAF’s overheads are budgeted to amount to $20,000. CAF’s Financial Director

has asked you to prepare some documents for a presentation to the Board of
Directors.

Required:

(a) Calculate, and briefly explain the significance of, CAF'S breakeven point and
margin of safety, expressed as a percentage.

(b) Based on CAF's information above, construct and explain the purpose of the
three following charts:

(1) A breakeven chart
(2) A contribution graph
(3) A profit - volume chart.

Contd...7
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R SECTION - p
nswer the following: (Cnmpulsory) &
17. Wargrin designs, develops and
lifecycle lasti

Ng around th sells many PC games. Games have a short
by reference to tp "€@ years only. Performance of the games is measured
POpularity. Warqri ¢ Profits made in each of the expected three years of
of contributiong 0 accem:‘:' a net profit of 35% of turnover as reasonable. A rate
acceptabl| (sales price less variable cost) of 75% is also considered

P ST.ALOYSIUS COLLEGE LIBRARY
Wargrin has a |ar

. * MANGALORE-575003
ge centralised development department which carries out all

ment to market and distribut
Wargrin has develo

ped a brand new game
following budgeted

performance figures.
The selling price of Stealth will be a constant $30 per game. Analysis of the costs
show that at a volume of 10,000 units a total cost of $130,000 is expected.
However at a volume of 14,00

0 units a total cost of $150,000 is expected. If
volumes exceed 15,000 units the fixed costs will increase by 50%.
Stealth’s budgeted volumes are as follows:

called Stealth and this has the

Year 1

Year 2 Year 3
Sales volume 8,000 units

16,000 units 4,000 units

In addition, marketing costs for Stealth will be $60,000 in year one and $40,000
in year two. Design and development costs are all incurred before the game is

launched and has cost $300,000 for Stealth. These costs are written off to the
income statement as incurred (i.e. before year 1 above).

Required:
Produce the budgeted results for the game 'Stealth’ and briefly assess the

game’s expected performance, taking into account the whole lifecycle of the
game.

EEREE
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Mangaluru
B.Com. (Vocational) Semester IT1I- Degree Examination
October- 2019

ACCOUNTING STANDARDS

Time: 3 hrs. Max Marks: 100
SECTION - A

Answer any FIVE of the following.

What are Accounting Standards?

(5x2=10)

Give the meaning of the term cashflow under AS-3.
What Is Accounting policies under AS-1?

What are the conditions to recognize Government Grants as per AS 12?7

Comment on disclosure of Fundamental Accounting Assumptions

o v A wN e

Becks Ltd has provided the following information

Depreclation as per accounting records= X 2,00,000

Depreclation as per Tax records= ¥ 5,00,000 ST,' ﬂ‘ELSéUEngA" %EEE 51'(',13%;‘1'3
Unamortized preliminary expenses as per tax record= ¥ 30,000.

There Is adequate evidence of future profit sufficiency. How much deferred

tax asset/ liability should be recognized as transition adjustment when the

tax rate Is 50%. (AS-22)

7. Manoj Ltd avaliled a loan from a bank for T 50lakhs as on 30-04-2017. It was
utllized as follows

Particulars Amount (3- Lakhs)
Construction of shed 50
Purchase of Machinery 40
Working capital 20
Advance for purchase of truck 10

Construction of shed was completed in March 2018. The machinery was
installed on the day of acquisition. Delivery of the truck was not received.
Total Interest charged by the bank for the year ending 31-03-2018 was XY 18

lakhs. Show the treatment of Interest.
SECTION - B

Answer any FOUR of the following. (4x12=48)
8. a) Explain briefly the condition to recognize deferred tax asset.

b) Explain the accounting treatment relating to refund of government grant as
per AS-12.
9. a) Define Investments, current Investments and Long term investments.

Contd...2
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Accounting policies.

b) What are Accounting policies. Name the
for the year ended

10. Following is the Cash Flow abstract of Gama Ltd

31-03-2019:

Inflows Amount | Outflows mt‘"
®) ) ®)
Opening Balance Payment for Accounts o
Cash 10,000 payables 90,000
Bank 70,000
ShareCapital- Issued 5,00,000 | Salaries and wages 25,000
Collection-Trade Payment of overheads 15,000 |
Receivables 3,50,000
Sale of Fixed Assets 70,000 | Fixed assets Acquired 4,00,000 |
Debentures Redeemed 50,000
Bank Loan Repaid 2,50,000 |
Taxation 55,000 -
Dividends (including ]
Dividend distribution 1,00,000
tax)
Closing Balance
Cash 5,000
Bank 10,000
10,00,000 10,00,000

Prepare cash flow statement for the year ending 31% March 2019 in
accordance with AS-3

11. On the basis of information given below, find the value of inventory as per
AS 2, to be considered while preparing the Balance Sheet as on 8% March,
2019 on weighted Average Basis

Details of Purchases:

Date of purchase |Unit (Nos.) | Purchase cost per unit (3)
01-03-2019 20 108
08-03-2019 15 s 2 107
17-03-2019 30 109
25-03-2019 15 107

etalls of esue of Kavenforvi | Unit (Nos.)

03-03-2019 10

12-03-2019 50

18-03-2019 15

24-03-2019 50

Net realizable value of inventory as on 31 March, 2019 is 7 107.75 per unit
You are required to compute the value of Inventory as per AS 2
. contd-3
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12.

13.

14.

XLtd.on1-1-2019had made an investment of ¥ 600 lakhs in the equity shares

of Y Ltd. of which 50% is made in the long term category and the pest a2

temporary investment. The realizable value of all such investment 0N

_ 31-3-2019 became % 200 lakhs as Y Ltd. lost a case of copyright. From the

given market conditions, it is apparent that the reduction in the value is not

temporary in nature. How will you recognize the reduction in financial
statements for the year ended on 31-3-20197

In the books of M/s Prashant Ltd., closing inventory as on 31.03.2019
amounts to ¥ 1,63,000 (on the basis of FIFO method).

The company decides to change from FIFO method to weighted average

method for ascertaining the cost of inventory from the year 2018-19. On the
basis of weighted average method, closing inventory as on 31.03.2019
amounts to ¥ 1,47,000. Realizable value of the inventory as on 31.03.2019
amounts to ¥ 1,95,000.

SECTION - C
Answer any TWO of the following.
MCF Limited is engaged in manufacturing of Chemical ¥ for which Raw
Material X is required. The company provides you following information for
the year ended 31st March, 2019.

(2x16=32)

Per Unit(X)
Raw Material X
Cost price 3800
Unloading Charges 200
Freight Inward 400
Replacement cost 3000
Chemical Y
Material consumed 4400
Direct Labour 1200
Variable Overheads 800
i i ST.AT0YS10S COLLEGE LIRRARY
Additional Information: MANGALORE-575003

i) Total fixed overhead for the year was 40,00,0000n normal capacity of

20,000 units.
ii) Closing balance of Raw Material X was 10,000 units and Chemical Y was

24000 units.
You are required to calculate the total value of closing stock of Raw Material

X and Chemical Y according to AS 2, when

i) Net realizable value of Chemical Y is ¥ 8,000 per unit
i) Net realizable value of Chemical Y is ¥ 6,000 per unit.

(4

Contd...4
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15,

w building on 1st jJanuary, 2018. It obtaingq

ARC Ltd. began construction of a ne
g i uilding on 1st Janl.!ary'

T 1 lakh special loan to finance the construction of the b i
' ing two non-
2018 at an interest rate of 10%. The company’s other outstanding n

specific loans were:

Amount (%) Rate of Interest

5,00,000 11%
9,00,000 13%
The expenditures that were made on the building project were as follows:
e
January 2018 W
April 2018 2,50,000
July 2018 4,50,000
December 2018 1,20,000

Building was completed by 31st December, 2018. Following the principles
prescribed in AS 16 ‘Borrowing Cost,’ calculate the amount of interest to
be capitalised and pass one Journal Entry for capitalising the cost and

borrowing cost in respect of the building.

16. a) Explain when Capitalization of borrowing cost should commence, suspend

17.

and cede.
b) XYZ Ltd. has taken a loan of USD 10,000 on April 1, 2016, for a

specific project at an interest rate of 5% p.a., payable annually. On

April 1, 2016, the exchange rate between the currencies was X 45 per

USD. The exchange rate, as at March 31, 2017, is T 48 per USD. The

corresponding amourlt could have been borrowed by XYZ Ltd. in local

currency at an interest rate of 11 per cent per annum as on April 1,

2016. Compute Borrowing cost ' .
c) How are deferred tax measured

SECTION - D

Answer the following: Compulsory (10)
While preparing its final accounts for the year ended 31st March, 2019, @
company made provision for bad debts @ 6% of its total debtors. In the last
week of February, 2019 a debtor for ¥ 25 lakhs had suffered heavy loss due
to an earthquake; the loss was not covered by any insurance policy. In April
2019 the debtor became a bankrupt. Can the company provide for the full
loss arising out of insolvency of the debtor in the fina) accounts for the year
ended 31st March, 20197 You are required to advise the company in line With

AS 4.,
ok e e ok ok ok ok
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Reg. No. ‘

St Aloysius College (Autonomous)
Mangaluru
Semester III- Degree Examination

October- 2019
CORPORATE LAW

B.Com.(\!ocational)

Time: 3 hrs, Max Marks: 100

SECTION - A
Answer any FIVE of the following. (Ex2=10)

State the contents of Annyal Return u/s 92.
What is Red-Herring prospectus?
Define sweat equity shares u/s 2[88].

Define subsidiary company?

What is *Unpaid Dividend Account’ and state the statutory provisions.

Which companies have to constitute CSR committee?

X eom o wh

What is the quorum required for a public and private co in the meeting?

SECTION - B
L
Answer any FOUR of the following. (4x12=48)
8. What is Memorandum of Association? Explain its clauses.

9. State the provisions of Companies Act relating to transfer and transmission of

shares, refusal of shares. ST ALOTSIUS COLLEGE TIRRARY
10. Explain various Doctrines. MANGALORE-575303

11. State the conditions to be complied for the issue of equity shares with
differential rights.

12. Define Corporate Social Responsibility as per Companies rule 2014 and
specify activities under schedule vii.

13. Discuss auditor’s powers, duties u/s 143,

SECTION -C
Answer any TWO of the following. (2x16=32)

14. “A Joint stock company is an artificial person created by law with a perpetual
succession and a common seal”. Explain the features of a company in the
light of this statement.

15. State the provisions of Companies Act 2013 regarding Buy-back shares of a
company.

16. What are the different kinds of meetings of the shareholders of a company?
When and how are these meetings held?

SECTION -D
Answer the following: Compulsory (10)
17. Discuss shares Issued at premium and shares issued at discount.

sk ok ok ook
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Reg. No:

St Aloysius College (Autonomous)
Mangaluru

B.
Com. Semester III (Vocational) - Degree Examination
October 2019

s INCOME TAX - II
Time: 3 Hours Max. Marks: 100

SECTION A
Answer any FIVE of the following each question caries 2 marks.  (5x2=10)

gow do you treat Gift i_i'om non-relative while computing income of a assesse?
ow the long term capital gain is computed?
What do you mean by clubbing of income? give example -

Mention the tax rate applicable for resident senior citizen (65 years) for the assessment
year 2019-20,

Mention any two persons compulsory required to file return under the Income Tax Act.
Mention any four deduction under Section 80C of the Income Tax Act.

What do you mean by revised return?
¥ ST.ALUTSIUS GOLLEGE LIBRARY
SECTION B MANGALORE-575003

el S

S N

Answer any FOUR of the following each question caries 12 marks. (4x12=48)

8. Compute the taxable income from other sources of Mr. Ayappa for the assessment year
2019-20 from the following information:
a) Interest on debentures of a listed company I 13,500 (Net).
b) Received ¥ 12,000 at ¥ 1,000 per month as family pension from central
government.
¢) Received ¥ 5,000 as interest on Savings Bank account.
d) He Received a car as a gift from his friend on the occasion of his birthday. The
) fair market value of the car is ¥ 5,00,000.
e) He received ¥ 2,60,000 from his neighbour who is in his death bed.
f) Dividend received from Indian company T 12,000.
g) Interest received on bank fixed deposit I 6,000.
h) Received ¥ 5,000/ for delivering lecture on organic farming.
i) Cash gift received on occasion of marriage < 80,000.
j) Received ¥ 57,000 as rent from agricultural land let of for brick making.
k) Examination remuneration T 4,000.
1) Kerala state lottery income received ¥ 35,000 (Net).
m) Rent from let out of vacant land ¥ 75,000.

9. Shri Praksh furnishes the following particulars of income and losses for the year
Assessment Year 2019-20.

[a | Taxable income from salary 4,50,000
b | Income from house property A: 1,60,000
B (-)4,10,000
¢ | Profits from readymade garments business 1,40,000
before depreciation
d_ | Speculative profits 10,000
e | Long term capital gains 24,000
f | Short term capital gains 8,000
Share of Profits from a firm 7,800
h | Current year depreciation 4:3503 g
[ Winning from horse race (Gross) 20,0 S
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The following items are brought forward from the

a) Unabsorbed depreciation ¥ 5,000.

b) Speculative losses ¥ 15,000.

c) Long term capital Loss ¥ 15,000.

d) Short term capital loss ¥ 6,000.

€) Loss from activity of owning and maintaining race horses T 12,000.
Compute gross total income for the assessment year 2019-20.

10. Examine the applicability of tax deduction at source provisions, the rate and amount
of tax deduction in the following cases for the financial year 2018-19:

a. Payment of ¥ 27,000 made to Jacques Kallis, a South {Xfrican crick?ter, lif}’
an Indian newspaper agency on 02-07-2018 for contribution of articles in

relation to the sport of cricket.

previous year 2017-18:

b. Payment made by a company to sub-contractor ¥ 3,00,000 with outstanding
balance of ¥ 1,20,000 shown in the books as on 3 1-03-2019.

¢. Winning from horse race ¥ 1,50,000.

d. ¥2,00,000 paid to Mr. A, a resident individual, on 22-02-2019 by the State
of Uttar Pradesh on compulsory acquisition of his urban land.

e. Mr. X, a resident, is due to receive I 4.50 lakhs on 31.3.2019, fowards
maturity proceeds of LIC policy taken on 1.4.2015, for which the sum
assured is ¥ 4 lakhs and the annual premium is ¥ 1,25,000.

f. Mr. Y, a resident, is due to receive ¥ 2.75 lakhs on 31.3.2019 on LIC policy
taken on 31.3.2012, for which the sum assured is ¥ 2.50 lakhs and the
annual premium is ¥ 35,000. '

11.Examine with reasons, for the following sub-divisions, whether the following
statements are true or false having regard to the provisions of the Income-tax Act,

1961:

() For a dealer in shares and securities, securities transaction tax paid in a recognized
stock exchange is permissible business expenditure.

(i) Where a person follows mercantile system of accounting, an expenditure of
T 25,000 has been allowed on accrual basis and in a later year, in respect of the said
expenditure, assessee makes the payment of ¥ 25,000 through a cheque crossed as
“& Co.”, disallowance of ¥ 25,000 under section 40A(3) can be made in the year of
payment.

@ity It is mandatory to provide for depreciation under section 32 of the Income-tax Act,
1961, while computing income under the head “Profits and Gains from Business
and Profession”. )

(v) The mediclaim premium paid to GIC by Mr. Lomesh for his employees, by a draft,
on 27.12.2017 is a deductible expenditure under section 36.

(v) Undersection 35DDA, amortization ofexpenditure incurred under eligible Voluntary
Retirement Scheme at the time of retirement alone, can be done.

(vi) An existing assessee engaged in trading activities, can claim additional depreciation
under section 32(1)(iia) in respect of new plant acquired and installed in the trading
concern, where the increase in value of such plant as compared to the approved
base year is more than 10%.

12.Explain in details the provisions relating to compulsory filing of returns, person
responsible, due dates, consequence -interest and late fees applicable for non-filing of
returns.

13. Explain the provisions of income tax relating to carry forward and set off of losses.

contd...3
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SECTIONC
Answ‘er'any_lﬂ_q of the following each question caries 16 marks.
14.Mr. *X ﬁfmlshcs tl}t: following data for the previous year ending 31.3.2019:
(@) Unlisted Equity Shares of AB Ltd., 10,000 in number were sold on 31.5.2018, at
< 500 for each share.

. The above shares of 10,000 were acquired by ‘X’ in the following manner:

() Received as gift from his father on 1.6.2000 (5,000 shares) the fair market
value on 1.4.2001 T 200 pershare.
(i) Bonus shares received from AB Ltd. on 21.7.2008 (2,000 shares).
(i) Purchased on 1.2.2011 at the price of ¥ 350 per share (3,000 shares).
i’!l]-lar:hased one residential house at ¥ 25 lakhs, on 1.5.2019 from the sale proceeds of
es.

(b) ‘X'is a_lready owning a residential house, even before the purchase of above house.
The said house was purchased for Z1,06,000 onMay 15,1975. The following
expenses are incurred by him for making addition/alternation to the house property

(2x16=32)

a. Cost of construction of first floor in 1982-83 3,10,000
b. Cost of construction of the second floor in 2002-03 7,35,000
c. | Reconstruction of the property in 2012-13 5,50,000

Fair market value of the property on April 1, 2001 is ¥ 8,50,000. The house
property is sold by Mr. C on August 10, 2017 for T 68,00,000 (expenses incurred
on transfer: ¥ 50,000)

() Mr.X purchased convertible debentures for ¥ 5,00,000 during August 2002. The
debentures were converted into shares in September 2012. These shares were sold for
<15,00,000 in August, 2018, The brokerage expenses are T 50,000.

Youarerequired to compute the capital gains in case of Mr. X for the assessment year
2019-20.

Year Index Year Index
2018-19 280 2010-11 167
2017-18 22 2008-09 137
2012-13 200 2002-03 105
2011-12 184 2001-02 100

15. Mr. Yashas carries on his own business. An analysis of his trading and profit & loss
for the year ended 31.03.2019 revealed the following information:
i)  The net profit was ¥ 11,20,000.
ii) The following incomes were credited in the profit and loss account:

a) Dividend from UTI ¥ 22,000. —— . _
b) Interest on debentures ¥ 17,500. ST"H}\'LS&-«SLQJEEEE‘;‘ LIBRARY
¢) Winnings from races ¥ 15,000.

iii) It was found that some stocks were omitted to be included in both the opening
and closing stocks, the value of which were: Opening stock ¥ 8,000. closing
stock ¥ 12,000.

iv) ¥ 1,00,000 was debited in the profit and loss account, being contribution to a
University approved and notified under section 35(1)(ii).

v) Salary includes ¥ 20,000 paid to his brother which is unreasonable to the

extent of T 2,500.

Advertisement expenses include 15 gift packets of dry fruits costing ¥ 1,000

per packet presented to important customers.

Total expenses on car was ¥ 78,000. The car was used both for business and

personal purposes. % th is for business purposes.

vi)
vii)

Contd...4
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toA & Co., 2 goods transport

iii) Mi i 0,000 paid
viii) Miscellaneous expenses included < 3 P £ 1he company’s product to

operator in cash on 31.01.2019 for distribution 0
the warchouses. ot
ix) Depreciation debited in the books was ¥ 55,000- Depreciation rliamed aper
Income-tax Rules, 1962 was T 50,000.
x) Drawings ¥ 10,000.
xi) Investment in NSC ¥ 15,000.
Compute the total income of Mr. Y for the assessment year

untant in practice. She maintains her
for the year ended March 3],

2019-20.

16. Ms. Purvi, aged 55 years, is a Chartered Acco
accounts on cash basis. Her Income and Expenditure account
2019 reads as follows;

Expenditure ) Income @
Salary to staff 15,50,000 | Audit Fees earned: _27_@&}9&
Stipend to articled Taxation services _léﬁfﬁg_{}‘
assistants 1,37,000 | Consultancy : 12,70,000
Incentive to articled assistants 13,000 | Dividend on shares of Indian 10,524

companics(Gross) ______‘
Office rent 12,24,000 | Income from UTI _ 7,600 |
Printing and stationery 12,22,000 | Honorarium received from 15,800

various institutions for
valuation of answer papers

Meeting, seminar and Rent received from residential 85,600
Conference 31,600 | flat let out ]
Purchase of car 80,000
Repair, maintenance and
petrol of car 4,000
Travelling expenses 5,25,000
Municipal tax paid in
respect of house property 3,000
Net Profit 9,28,224
57,17,824 57,17,824|

Other Information:
i)  Allowable rate of depreciation on motor car is 15%.

ii) Value of benefits received from clients during the course of profession is
¥ 10,500. -

iii) Incentives to articled assistants represent amount paid to two articled assistants
for passing IPCC Examination at first attempt.

iv) Repairs and maintenance of car include ¥ 2,000 for the period from 1-10-2018
to 30-09-2019.

v) Salary includes ¥ 30,000 to a computer specialist in cash for assisting Ms.
Purvi in one professional assignment.

vi) The travelling expenses include expenditure incurred on foreign tour of
T 32,000 which was within the RBI norms.

vii) Medical Insurance Premium on the health of dependent brother and major son
dependent on her amounts to ¥ 5,000 and ¥ 10,000, respectively, paid in cash.

viii) She invested an amount of < 10,000 in National Saving Certificate.

Compute the total income and tax payable of Ms. Purvi for the assessment year 2019-20.

contd (1] '5
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SECTION D

Answer the followlng.

17.a) Mr. Ramesh, 4 resident individual aged 54, furnishes his income & other details for the
P.Y 2018-2019.

(1x10=10)

1) Income of T 8,10,000
audited /s 44AB.

. (SIUS COLLEGE LIBRARY
i) Income from other sources ¥ 2,70,000. ©1° :‘,«LELCI.LfL% RE-575003
i) Tax deducted at source ¥ 25,000.

iV)  Advance tax paid ¥ 1,03,000 during the P.Y 2018-19.
Returmn of income filed on 11-12-2019,
Calculate the interest payable under section
Assume that the return of income would
return. What are the consequences for del
Income tax Act, 19619 Examine, making
b) Mr. Manjunath filed his retum of income on 30% September, 2019 related to
Assessment year 2019-20. In the month of October 2019, his tax consultant found that the

interest on fixed deposit was omitted in the tax return. Can Mr. Manjunath file a revised
return? If yes, by when?

. ¥ : €
from wholesale cloth business, whose accounts ar

234B of the income tax Act, 1961.

be processed on the same day of filling of
ay in furnishing return of income under the
the required computations in this case.

XEEERX R KKk
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St Aloysius College (Autonomous)
Mangaluru
B.Com. (Vocational) Semester III- Degree Examination
October-2019
COST AND MANAGEMENT ACCOUNTING - I

Time: 3 hrs, Max Marks: 100

woN e

N oo on oa

SECTION - A
Answer any FIVE of the following. (5x2=10)
What do you mean by Activity based costing?

State any two objectives of Management Accounting.
What do you mean by Perpetual inventory system?

What are responsibility centers? State any two.
What are selling and distribution overheads?
What is VED Analysis in relation to Inventory control?

Calculate Economic Ordering Quantity from the following data:

Monthly usage : 250 units

Cost of material per unit : ¥ 50

Cost of placing and receiving one order : Z 30

Annual carrying cost of inventory: 5% of inventory value
SECTION - B

Answer any FOUR of the following. (4x12=48)
Two components Al and A2 are used as follows:

Average usage---300 units per week each gy 4} 0ys(yS COLLEGE LIBRAKS
Maximum usage----450 units per week each MANGALORE-575603
Minimum usage----150 units per week each

Re-order quantity—A1: 2400 units, A2: 3600 units

Re-order period—A1l: 4 to 6 weeks, A2: 2 to 4 weeks

Calculate for each component,

a) Re-order level b) Minimum level

¢) Maximum level d) Average stock level

Row material AXE costing 150 per kg and ‘BXE’ costing ¥90/kg are mixed in

equal proportions for making product A. The loss material in processing works
out to 25% of the product. The production expenses are allocated at 40% of
direct Material cost. The end product is priced with a margin of 20% over
total cost.

Material BxE is not available & suitable material CxE has been found for BxE
costing 75/ Kg. It is required to keep the proportion of this substitute
material in the mixture as low as possible and at the same time maintain the
selling price of the end product at existing level and ensure the same
quantum of profit as at present.

You are required to compute the rate of the mix of raw material AXE and CXE.

Contd..,2
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10.a) Find out the wage per hour based on the following information. Neme of tig
worker-Mr. Ramesh kumar.
a ) Basic pay ¥ 200 per day
b ) Dearness allowance ¥ 1,000 per month
¢ ) Leave salary 10% of (aand b)
d ) Employers contribution to Provident Fund 8% of (2, P and c)
e) Employers contribution to Employees State Insurance ZE% ol
(a,bandc)
f)Expenditure on amenities to labour ¥ 200 per head per month. Number of
working days in a month 25 days of 8 hours each. (6 Marks)

b) A workers basic wage is Y300/ day of 8 hours.
His time sheet for the week.

Job No | Time allowed | Time taken
1 25 hours 20 hours
2 30 hours 20 hours
Calculate gross wage he has earned for the week under
i) Rowan scheme i) Halsey scheme (6>

11. From the following particulars you are required to prepare various ledger
accounts for the year 2018 under Integrated accounting system:

4
Share capital 3,00,000
Sundry creditors 4,00,000
Sundry debtors 1,00,000
Opening stores 1,50,000
Transactions during the year 2018:
Stores purchased 10,00,000
Stores issued to production 10,50,000
Wages incurred 6,00,000
Direct wages charged to production 5,50,000
Manufacturing expenses incurred : ’ 2,75,000
Manufacturing expenses charged to production 2,50,000
Selling expenses 90,000
Finished production at cost 17,00,000
Sales 22,00,000
Closing stock of finished .goods 50,000
Payment to creditors 10,00,000
Receipt from debtors 20,00,000

12. Explain the different methods of Costing.

13. What Is meant by Employee Turnover? What are the causes of Employee
Turnover?

Contd.--3
|
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SECTION-C
Answer any TWO of the following. (2x16=32)

14, The following cost details are avzilzble from the cost books of Vinyas Limited
for the year ended 31.12.2018.

[ Particulars . T |
Factory wages 6,00,000
Purchase of materials 7,20,000
——
Carriage inwards 8,640
Consumable Stores 36,000
Wages of Foreman 48,000
Wages of Storekeeper 6,000
Managers Salary (Factory %, Y Office) 72,000 i
Employee State Insurance 6,000
Power & Fuel 54,000
Drawing Office Salaries 36,000
Printing & Stationery 12,000
Counting House Salaries 12,000
Stock on 1.1,2018: Paw Materials 1,20,000

Work In Progress gy 41 4151S COLLEGE LIBRARY 22"

Finished Products  MAANGAL@RE-575003 | 6000 units

Debenture Interest 40,000
Donations 5,000
Payment of Sales Tax 24,000
Sales 19,00,000
Stock on 31.12,2018: Raw Materials 1,33,000
Work In Progress 96,000
Finished Products 12,000 units

Selling and Distribution Expenses are to be charged at ¥ 1 per unit. During
the year 96,000 units were proeduced. Prepare a Cost sheet showing

different elements of costs and profit.
contdlll4
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Vo e tollowing figures have been exltracted from the inanclal accounts of
Matipavest Lirnltad for the year 2010,

Particulars ¢ particulars ‘f

Hirect Material 25,00,000 | Legal Charges 2,000
FHrecd Wages 1,00,000 | Dividend ftocalved 50,000
Factony Gver e 11,00,000 | Interest Recelved 10,000
Adiministiative Overhond | 1,050,000 | Sales (60,000 units) ] 60,00,000
Belling e tistibation | 4,010,000 | Closing Stock:

Ovesihom| Fintshed  goods (2000

o Dt A0,000 [ unit) 1,60,000
Fralitninng ¥ I wpinines 20,000 | Work In Progress 1,20,000

VI gy off

Cast aceonnts for the yenr show tHiat the ditect materlal consumption was
F2A0, 00,000 Factary  overhond In recovered at 20% on Prime Cost,
Atinlindstyat i v head s o recovered ot € 6 perounll and solling and
LT vt e I e aveped ol @0 per onlt,

Compule Frofite as per financlal accoumta and profites as per Cost
Aecounts and show the Reconciliation Statemant,

P Whnt (s the Iulnillllmhl[l letwenn Managemaent |, Coast and Finanalal
Avconnting* Feplaln,

SECTION < D

Anewar the following: Compulsory (10)
17 T ety aistibution shiws the depactimental overlead as follows;
PFarticonlnge Froduction Departimants Rervice
_ Departiments
X Y! z 0 "
vl hoadl 149,600 I, 200 14,000 000 1,000
[ |_|bt
Bervive Depattiment overheads aie chatged on percentage  basls as |
follyye | '
X Y b 4 4] P
I'l'|'tl||l|“‘ll| 40 a A0 10
(]
Pepaitinent | 10 all 20 0 .
It |

Appirtion the vosts of warvice dopartiments by using Repeated
st eibuation Mathoad, '

AAr b h N
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St Aloysius College (Autonomous)
Mangaluru

B.Com./B.B.A. - Semester III - Degree Examination
October 2019

FOUNDATION COURSE IN HUMAN RIGHTS AND VALUE EDUCATION

Time: 3 Hours Max. Marks: 100

PART - A
HUMAN RIGHTS
Answer all the following questions in three sentences each. (1x5=5)
Each questions carries one mark.

What is meant by Human Rights? Who classified Human Rights as generational
rights?

ST.ALOYSIUS COLLEGE LIBRARY
2. Expand UDHR and Mention the date of its adoption. MANGAL®RE-575003

3. In which year Amnesty International received United Nations Human Rights
award?

4. Who appoints the chairman and members of NHRC?
5. Who is a Refugee?
II. Answer any FIVE questions in about a paragraph each. Each (3x5=15)
question carries 3 marks.

6. Nido was studying in Jalandhar and came to Delhi to meet his friends. At Lajpat
nagar, he asked for the address with a shopkeeper. But the shopkeeper along
with other fellow shopkeepers in the vicinity made mockery of Nido's-hair style
and colour. Out of rage Nido broke the glass item worth 2 7,000. Nido was then
beaten up mercilessly with iron rods and sticks by six people. Police intervened
to solve the matter and made Nido pay back 2 7,000 which he did. He then went
to his room at his sister's home, but the next day he was dead in his bed. The

initial report of doctors has stated that a swelling in the brain has led to the
death of Nido.

i) Do you agree with the actions taken by the police? Explain.
il) What do you mean by Racial Discrimination?
iif) Mention the convention of UN regarding Racial Discrimination.
7. Which day Is celebrated as Human Rights Day? What is the significance?

8. In September 1999 a sex worker in Calcutta was murdered by a prospective
client after she refused to have sex with him. When the case (Budhadev
Karmaskar vs the state of west Bengal) went to the Supreme Court, it had a
landmark judgement, stressing the prostitutes right to lead a life of dignity as
well.

i) Is'Right to life’ a fundamental right or a Human right?
i) Do you agree with the judgement of Supreme Court? Justify,
i) Suggest some effective schemes for the rehabilitation of women sex worker

in Indla.

Contd...2
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9. What is meant by Consumer Rights?
10. State the importance of UDHR.
11. Examine any two types of Human Rights.
II1. Answer any FIVE questions in about 10 sentences each. (5x5=25)
Each question carries 5 marks.
12, Write a short note on Indigenous Population.
13. Who are Dalits? Examine the status of Dalits in India.
14. Explain the role of NGO's In protecting Human Rights.
15. Write a note on Human Rights Watch.
16. Examine the status of Adivasis in India.
17. Explain the role of students in promoting Human Rights.
18. Write a short note on the challenges faced by Transgenders.
IV. Answer any ONE question in about 20 sentences each. Each  (10x1=10)
question carries 10 marks.
15. Discuss the Human Rights enshrined in the UDHR.
20. Explain the origin ad development of Human Rights
V.  Answer any ONE question in about 40 sentences each. Each  (15x1=15)
question carries 15 marks.
21. Explain the role of NGO'S and 1IGO’s in protecting Human rights.
22. Explain the remedies available against violation of Human Rights in India.
PART - B
(VALUE EDUCATION)
VI. Answer any FOUR questions in about 8-10 sentences. Each (5x4=20)
question carries five marks.
23. Define marriage. Explain the significance of Marriage.
24. What are the factors influencing the declision of marriage?
25. Write a note on Reproductive Health.
26. What are the signs and symptoms of Miscarriage? Explain.
27. Examine the disadvantages of Artificial Birth Control method.
28. Define family. Explain the characteristics of functional family.
VII. Answer any ONE question in about 20 sentences. The (10x1=10)
Question carries 10 marks.
29. Explain the common causes for Divorce,
30. Discuss the methods of Family planning.

EEE LS 333
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